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Roll Number

Name of the Candidate

Examination Name KVS PGT COMPUTER SCIENCE

Exam Date & Time 23-02-2023 03:00:00

Subject : GE_Q01-Q10_PGTCS
Question ID:- 1

NOTABLE

Choose the word similar in meaning to the one given above.
(1) Prosperous

(2) Comfortable
(3) Distinguished
(4) Average

Options:-

«1, Option ID :- 1,
« 2, Option ID :- 2,
« 3, Option ID :- 3,

« 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

OBSCURE
Choose the word opposite in meaning to the one given above.
(1) Ponderous

(2) Thoughtful

(3) Heedless

(4) Apparent
Options:-

«1, Option ID :- 5,
« 2, Option ID :- 6,
« 3, Option ID :- 7,

=« 4, Option ID :- 8,
Answer Given:- 1, Option ID : -5

Question ID:- 3

Identify the part of speech of the underlined word in the following sentence.

I cannot give him credit for this.

(1) Preposition
(2) Adverb

(3) Adjective
(4) Interjection
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Options:-

«1, Option ID :- 9,

« 2, Option ID :- 10,
« 3, Option ID :- 11,

»« 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 4

Many aspire for greatness.

Choose the option in which the Voice in the above sentence has been correctly changed into Passive
Voice.

(1) Greatness is being aspired by many.

(2) Greatness is aspired by many.
(3) Greatness has been aspired for by many.
(4) Greatness is aspired for by many.

Options:-

«1, Option ID :- 13,
« 2, Option ID :- 14,
« 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 1, Option ID : -13

Question ID:- 5

Hari said to me, I want to help you.”
Choose the option in which the above sentence has been correctly changed into Indirect Narration.

(1) Hari told me that I wanted to help you.
2

(2) Hari told me that he wanted to help you.
(3) Hari told me that he wanted to help me.
(4)

4) Hari supported me with an offer of help.

Options:-

«1, Option ID :- 17,
« 2, Option ID :- 18,
« 3, Option ID :- 19,

= 4, Option ID :- 20,
Answer Given:- 3, Option ID : -19

Question ID:- 6
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Choose the option in which the following words/ phrases have been rearranged to form a meaningful
and grammatically correct sentence.

(A) to the

(B) we should

(C) ourselves

(D) accommodate
(

E) circumstances

(1) (A)(©) (B) (D) (E)
(2) (©) (B) (D) (A) (E)
(3)  (B) (D) (©) (A) (E)
(4) (D) (E) (A) (B) (©)
Options:-

«1, Option ID :- 21,
« 2, Option ID :- 22,
« 3, Option ID :- 23,

« 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7

Identify the part of the following sentence which has an error in it.

All kinds / of stationery / is / available here.
(a) (b) (©) (d)

a

(

(b
(c
(

i
2
3
4

(
(
(
4

e Nt

—

Options:-

«1, Option ID :- 25,
=« 2, Option ID :- 26,
« 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8

Fill in the blank in the following sentence by choosing option out of the given ones.

He did not come to the party, ?
(1) wasn’t he

(2) didn’t he

(3) was he

(4) didhe
Options:-

«1, Option ID :- 29,
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« 2, Option ID :- 30,
« 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30
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Question ID:- 9

Fill in the blank in the following sentence by choosing option out of the given ones.

Rita her seat in the class.

(1) dropped into

(2) dropped off in
(3) fell in with
(4) got on with

Options:-

«1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 3, Option ID : -35

Question ID:- 10

Fill in the blank in the following sentence by choosing option out of the given ones.

One should not be devoid decency.
(1) of

(2) on

(3) off

(4) into
Options:-

«1, Option ID :- 37,
« 2, Option ID :- 38,
« 3, Option ID :- 39,

« 4, Option ID :- 40,
Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_PGTCS

Question ID:- 11
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= fou o TNy it yee Tt st famen = e i -
T 3T SR TR o A A ITH T YO 1 SEHL § STAE FI § o e <9 H & =it a5

YIS B- FIER0 H a7 1 78R iR gy <o | G i i o1 gl S € § 1 safee g |
S e siv gfe Swes =1 v e =)

AGF 7 T SEH STTAA A ?
(1) RN % @5 o1 a4
@l % T A A ALH

Options:-

«1, Option ID :- 41,
= 2, Option ID :- 42,
« 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

= fou o TNy it yee Tt st famen = e i -

T 3T SR TR o A A ITH T YO 1 SEHL § STAE FI § o e <9 H & =it a5
ST §-0 FIHR0 H a7 &1 7R 3iR S sT<ier | YR =1 WIfd o1 Jo soifer & € | safere g6
S e siv gfe Swes =1 v e =)

HA-H S A AT FE T E 2
(1) foen =t o 3R S9 AR

(2) Toen =1 UER SR A e
(3) S <l IR gfHe Hed
(4) 9ffe H13q IR e yomeft

Options:-

=1, Option ID :- 45,
« 2, Option ID :- 46,
« 3, Option ID :- 47,

= 4, Option ID :- 48,
Answer Given:- 2, Option ID : -46

Question ID:- 13
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e fou TIU TTRIYT Rt UGt waitieh Sfee fashen ot wee sifeu -

15T ST 31 T_T 3 AT ae SRl S YUIelt S SRt § ST ST ¢ i g9 <v B 9 =isl S5
YIS &-5 |ER § e 1 gor it gfite e | Rd & i s ga st € # | safa g )
5 Toren SR 9o S7e o1 ya T 9ifeu |

I =t S 1 TR € -
(1) e =61 wE R
(2) “fes e
(3) IRt
(4) < g
Options:-

«1, Option ID :- 49,
=« 2, Option ID :- 50,
« 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14

et fau o ey it Ut watfien sfea fasen @ wmm i -

T 3T SR TR o A A ITH T YO 1 SEHL § STAE FI § o e <9 H & =it a5
ST §-0 FIHR0 H a7 &1 7R 3iR S sT<ier | YR =1 WIfd o1 Jo soifer & € | safere g6
5 foen iR gfas Ged 1 uIe e =fen |

TN % TR g frfafed § § o 3 1 STEvEedl € 2

(1) =f =1 AR

(2) usft = fafea =

(3) | = MR A

(4) | % R AR FA
Options:-

«1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,
= 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 15

“fter’ ST 1 g TS SR WO E -

(1) =+
(2) URgH+3IH
(3) gH+THh
(4) g+foer
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Options:-

«1, Option ID :- 57,
=« 2, Option ID :- 58,
« 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57
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Question ID:- 16

‘mIfSe weg | o4 B |
H =
(2) =
(3) IEED
(4 ==
Options:-

«1, Option ID :- 61,
« 2, Option ID :- 62,
« 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

‘e i faeim ® -
(1) <=
(2) &
(3) A
(4) g
Options:-

«1, Option ID :- 65,
=« 2, Option ID :- 66,
« 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

‘qoe T HiE-foaeee ® -

(1) dY+3A1]
(2) dYU+HG
(3) BRIESIS|
(4) qA+3ATE]
Options:-

«1, Option ID :- 69,
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« 2, Option ID :- 70,
« 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

Question ID:- 19

(1) eF, Aged
(2) 3Hfd, fasrsm
(3) o, Sp=
(4) SIH, 3hR
Options:-

«1, Option ID :- 73,
« 2, Option ID :- 74,
« 3, Option ID :- 75,

=« 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20

TEHH- TGN T STHTT Bl § -

(1) =HH-FM
(2) &R-ER
(3) TEY-THI
(4) RTT-heRTl
Options:-

«1, Option ID :- 77,
« 2, Option ID :- 78,
« 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Subject : GA_Q21-Q30_PGTCS

Question ID:- 21

Who among the following has the power to grant Pardons as per the Constitution of India ?
(1) President

(2) Supreme Court
(3) Parliament
(4) Attorney General of India
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T ¥ W 3 srpan frefafan § @ Rl S 9w weE 9 32

(1) Trzufd

(2) S=EAH A

(3) HHE

(4) A o1 HE=ATETE
Options:-

«1, Option ID :- 81,
« 2, Option ID :- 82,
« 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 1, Option ID : -81

Question ID:- 22

Which among the following is the longest waterway in India ?
(1) Brahmaputra river between Sadiya and Dhubri.

(2) West-Coast canal in Karnataka

(3) Ganga river between Allahabad and Haldia

(4)

4 Narmada river in the area over East West canal

I § Fad S SR HiHA-91 § ?

(1) wfean 3R ek & &g Jedqd ol

(2) e H UfveH 9@ TR

(3) somRER iR gfegan & o= M &

(4) YI-UfeeH eX % S G § AHG Tl

2

Options:-

=1, Option ID :- 85,
» 2, Option ID :- 86,
« 3, Option ID :- 87,

« 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

The diffusion of iron in Crystalline and metamorphic rocks results in soil developinga __ colour
(1) Blackish

(2) Bluish

(3) Reddish

(4) Greenish
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THEHE SR TR =2eH § dr % faer % gforreey 1 =i foeet fomfaa St &
(1) e

(2 e

(3) e

(4 =
Options:-

«1, Option ID :- 89,
« 2, Option ID :- 90,
« 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

Question ID:- 24

Which of the following was founded after independence in India ?
(1) Federation of the Indian Chamber of Commerce and Industries

(2) All India Democratic Women’s Association
(3) Indian Industrial and Commercial Congress
(4) Depressed Classes Association

TrefafEa § | foraeh! To YRd #l STSTEl & 918 88 2

(1) e o it e gies (Fewr o € sfead = oitw e 1e gese)
(2) sfEe WRdra wrenRdite qfed §6 (e gfean SHshfes gH-d THIfeuer)

(3) W sivEnfmes IR anfufeas wig (feam sesfigaa U waftfaa wi)

(4) =fe = Ha (feive Farfas THifamem)

2

Options:-

«1, Option ID :- 93,
« 2, Option ID :- 94,
« 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25

After the Lahore session of Congress, 26th January 1930 was declared to be celebrated as which of
the following in India ?

(1) National Unity Day
(2) Independence Day
(3) Swadeshi Day

(4 Home Rule Day
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FIUH & ARR AREYE & 918, 26 S, 1930 %1 94 § g fe7 & w9 9 w9 s =hfvq e =2
(1) g wem feem

(2) FEdEa fgaw

(3) e fead

(4) @M & feag
Options:-

«1, Option ID :- 97,
« 2, Option ID :- 98,
« 3, Option ID :- 99,

=« 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26

Who was given the ‘Satyajit Ray Lifetime Achievement Award’ in the 53'd International Film
Festival of India (IFFI) 2022, held in 2022 ?

(1) Fernando Trueba

(2) Alejandro Amenabav
(3) Carlos Saura

(4) Julio Medem

79 2022 § SIS 53 d AR YT fheq Teicda (318,06 U%.37E. ), 2022 H ' gegsiid ¥ @EF 28Y
TEEHe sare’ g feum w2

(1) AR

(2) ITeISigl STHAEE
(3) RiciE Hr=U
(4) Sifern HEH
Options:-

«1, Option ID :- 101,
« 2, Option ID :- 102,
« 3, Option ID :- 103,

« 4, Option ID :- 104,
Answer Given:- 1, Option ID : -101

Question ID:- 27

When was the birth anniversary of Dr. Rajendra Prasad, the first President of India observed ?
(1) 26 November 2022

(2) 30 November 2022

(3) 3 December 2022

(4) 5 December 2022
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qRd & Tget T2afd 1. TSI TS i SHdl e JAE T8 2
(1) 26 Fa=R, 2022

(2) 30 TEER, 2022
(3) 3 fewm=r, 2022
(4) 5 fegray, 2022

Options:-

«1, Option ID :- 105,
« 2, Option ID :- 106,
« 3, Option ID :- 107,

=« 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28

Which book was awarded the Bal Sahitya Puraskar 2022 in English language category ?
(1) Ramayana for Children
(2) Mahabharata for Children

(3) Two - Epics -in - One. The Ramayana for Children (The girl who chose) and the Mahabharata
for Children (The Boys who Fought)

(4) The Forbidden Forest

ST AT = T 2022 1 A Wi [T foHH g&E H1 9GH fwa T 2
(1) TEEY R fEega

(2) HERT Wi faesd
(3) Z-ufte FA-=, fo waraw vk faegH (g 76 g =) U f wermd wi faegd (fs = g %)
(4) e wrfaed v

Options:-

«1, Option ID :- 109,
»« 2, Option ID :- 110,
« 3, Option ID :- 111,
=« 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29

Who ranked first in the medal list in the 36" National Games held in Gujarat in September -
October 2022 ?

(1) Maharashtra

(2) Haryana
(3) Karnataka
(4) Service Sports Control Board
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o § faarsR-oTeRgE, 2022 § A 36 3§ WA Well | uew aifert § S Tge TH W @7

(1) HeRe

(2) =R

(3) AlCH

(4) afdw v g are
Options:-

«1, Option ID :- 113,
« 2, Option ID :- 114,
« 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 1, Option ID : -113

Question ID:- 30

Where do we use wires that melt quickly and break when large electric currents pass through
then ?

(1)  Electric Tron

(2) Electric Fuses

(3) Electric Kettles

(4)

4 Geysers

B9 39 A1 I HET TN FA E S e fagd om /e S R sl ¥ freeet 22 S § 2
(1) Tarstelt =1 39 (zofms 39)

(2) ot & IS (Sl W)
(3) Tostedl =i shaddll (Seifegs hed)
(4) TSR

Options:-

«1, Option ID :- 117,
« 2, Option ID :- 118,
« 3, Option ID :- 119,

=« 4, Option ID :- 120,
Answer Given:- 2, Option ID : -118

Subject : RA_Q31-Q35_PGTCS

Question ID:- 31
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How many 2's are there in the following number sequence, each of which is preceeded and
succeeded by ‘1" 7

1 2112122311221 2%11 2122173
4

B e
SIS ) IS ]

=1 fou g Hem wH H U 2 Hen T € foH § geie o gt iR oie 17 S @ 2
121221121211 21221

TS, J - T N

Options:-

«1, Option ID :- 121,
« 2, Option ID :- 122,
« 3, Option ID :- 123,

=« 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123
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Question ID:- 32

From his house, Atul travels 10 kms to the east. Then he turned left and covered 5 kms and then
he turned right and covered 6 kms. He turned again to his left and covered 5 kms. He then turned
to his left and covered 20 kms. Finally, he turned to his right and covered 5 kms. In which
direction is he from his starting point ?

(1) North-East

(2) South-East
(3) South-West
(4) North-West

gl 319 TR 8 10 fR. A, gd F =oran @ o o 9wt iR g # o) 5 T . 7 s € eiv o gRf eI
TR 6 foh. Y. 7 e ® 1 9% fR o7t |l oiR w5 R, 99 e ¥ R 9% oToe Sl S e
@ iR 20 fob. 1 @2 o1 81 37 | 9% 79 ST ST gEA € a1 5 foh.Hl, T e B 9 o1 SR fve fuig
G o fean 4 § 2

(1) SW-TH
(2) afeo-gd
(3) =faro-ufsem
(4) FO-UfT=H
Options:-

«1, Option ID :- 125,
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« 2, Option ID :- 126,
« 3, Option ID :- 127,

=« 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33

L, M, N, O, P, Q and R are sitting in a line facing West but not necessarily in the same order.

'O’ is on the immediate right of ‘N’ ‘M’ is at an extreme end and has 'p’ as his neighbour. ‘R’ is
bertween P and Q. O is sitting third from the south end.

Who is sitting in the middle ?

1 L
(29 N
3 P
(4) Q

L, MN,OPQRRUF= F iR e iR e EfFga i snd wd 98 81 'O, 'N' &
ek g9 T AR E 1 ‘M U Sifed S W ¥ S P SWeh YSiE ¥ R, P AR ‘Q e H ®1 ‘O g

BR Y T T AT |
o= § % =931 § 2
(1) L
(2 N
3 P
49 Q
Options:-

«1, Option ID :- 129,
« 2, Option ID :- 130,
« 3, Option ID :- 131,

=« 4, Option ID :- 132,
Answer Given:- 4, Option ID : -132

Question ID:- 34

Given below is a question followed by two statements numbered I and II, each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q: Whatis the code for ‘flowers’ in the code language ?

(I) :  In the same code language, ‘flowers are good’ is written as ‘mot det mic’.

(I) : In the same code language, ‘they like flowers’ is written as ‘det nik shi’.

(1) The statement (I) alone is sufficient to answer the question while statement (II) alone is not
sufficient

(2) The statement (II) alone is sufficient to answer the question while statement (I) alone is not
sufficient

(3) Both statements (I) and (II) together are necessary to answer the question

(4) Both statements (I) and (II) are not sufficient to answer the question.
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=1 e e T T & formen 9% /1 e 1SR R T § S weis H 9 SR & T8 © 1 ST o
SHIFT foh HIA-F/H AT T H1 I &4 o (o0 g4 278 |

L+ FE 9 H ‘flowers’ % o0 1 F2 ¥ 2

A (I): I Fe 9l H, ‘flowerseu'egood’ﬁ‘motdetnﬁc’%“ﬁqﬁﬁ@?{mél
U (II) : 39 FHe o1 H ‘they like flowers’ &1 “det nik shi’ % &9 H feran s g1

(1) e (I) 1ol 99 1 ST o o foIq vaia  Safs s (1) 31hel T el 8
(2) W (II) TSl ¥ o SR o o o vafe & STafeh e (1) T el ¢ |

(3) A (I) 3HR (I1), S FoereT 999 &1 3T 39 & fou smavas €1

(4) T (1) SR (1), I 999 1 IR <7 6 Q997w 78 2 |

Options:-

«1, Option ID :- 133,

« 2, Option ID :- 134,

« 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

In the diagram given below, triangle represents men, circle represents non-educated, square
represents sports persons and rectangle represent married.

3

How many non - educated married women who are not sports persons are there ?

1) 6
2 7
3) 8
4 9
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== fu U stia o, Frys gl @, 99 el =, o faenfedt = oiv s faanfedi =1 wfaffe =
gl

Tt feraHt sifwifera faranfeq afeed € < faergt =@ €2

1) 6
2 7
(3) 8
4 9
Options:-

«1, Option ID :- 137,
« 2, Option ID :- 138,
« 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 1, Option ID : -137

Subject : CL_Q36-Q40_PGTCS

Question ID:- 36

An input device which comprises of an exposed protruding ball held by a socket having sensors
for detecting ball’s rotation for capturing input is :
(1) Touchpad

(2) Track ball
(3) Pointer
(4) Sensor ball

T Ye feamnsd, foud 3 ek &3d & fau afd & {299 &1 91 T oq U S8 9 ke 8 Th

(1) ==
(2) e
(3) @mEeX
(4) HE @@
Options:-

«1, Option ID :- 141,
« 2, Option ID :- 142,
« 3, Option ID :- 143,
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« 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142
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Question ID:- 37

A word processing software best suited for creating documents with graphical elements like images,
text and hyper texts is :

(1) Notepad

(2) Wordpad
(3) MS-Word
(4) Note text

AW, TR S TEWEHRS S UTHHd TAHeH & WY SFRMe 99H 8g Faifys 3Ugad de-qraraT
TR FH A1 & ?

(1) ¥rede

(2) T8t

(3) THEH-EE

(4) HIE R
Options:-

«1, Option ID :- 145,
« 2, Option ID :- 146,
« 3, Option ID :- 147,

=« 4, Option ID :- 148,
Answer Given:- 1, Option ID : -145

Question ID:- 38

When I connect all computers of my school together to share resources like printers, what type of
network is formed ?

(1) PAN
(2) MAN
(3) LAN
(4) WAN

& H 397 Thel & 9t Fregedi o et S8 FREl # 9ie i A s e Sied € 1 S ° 42w
AT E ?

(1) T Tw (PAN)

(2) THTET (MAN)
(3) TA LTI (LAN)
(4) STYTT (WAN)

Options:-
«1, Option ID :- 149,

« 2, Option ID :- 150,
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« 3, Option ID :- 151,

« 4, Option ID :- 152,
Answer Given:- 1, Option ID : -149
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Question ID:- 39

Which of the following is not a cloud storage service ?
(1) Google Drive

(2) One Drive
(3) 1iCloud
(4) Hybrid Cloud

Freafafad § § 30 9 v Forse SR 9fde T8 22

(1) 7T §=F

(2) =1 grEd

(3) 3B FKRES

(4) TEEfHE wEe
Options:-

«1, Option ID :- 153,
« 2, Option ID :- 154,
« 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 4, Option ID : -156

Question ID:- 40

Bullying people online on social media, messaging platforms or gaming platforms is known as :
(1) Online bullying

(2) Cyber bullying
(3) Cyber stalking
(4) Phishing

o Hifemn, HAfT wiewd a1 5T ©iewH W e @l & aHEE 7 Fedrl § 2

(1)  sATemeA gfe

(2) HEE Ffein

(3) HrEEL Wik

(4) Twfom
Options:-

«1, Option ID :- 157,
« 2, Option ID :- 158,
« 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158
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Subject : UL_Q41-Q55_PGTCS
Question ID:- 41

What do you mean by “Development’ in child’s growth ?
(1) Itis a qualitative change while child is growing.

(2) Itis a quantitative change while child is growing.
(3) Itis an irreversible quantitative change.
(4)

4) Itis a reversible quantitative change

T &1 Hatg H e’ | st @ areed § 2
(1) ¥ drereh &1 9gfg %9 § SHarar ToneTs uRad ¢

(2) A8 AT &1 Wgfg A H BHare YRR IRadd 71
(3) IR SFAGRAVIA YRATMHF Rad €1
(4) I8 SHHUIT YREIS gfEd T

Options:-

«1, Option ID :- 161,
« 2, Option ID :- 162,
« 3, Option ID :- 163,

« 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

Which one of the following is not a social skill among children ?
(1) Showing affection to friend.

(2) Sharing food with peers.

(3) Playing with children.

(4) Distribution of birthday sweets.

Freifera # | o TeTeR] =1 AR shiere e @ 2
(1) o= % vfs Tre yevm

(2) THFEHA FAH] F WY WISH HEA FEAT

(3) @TcTehi o W Wl

(4) ¥ fe7 W fassE famao

Options:-

«1, Option ID :- 165,
« 2, Option ID :- 166,
« 3, Option ID :- 167,

=« 4, Option ID :- 168,
Answer Given:- 1, Option ID : -165

Question ID:- 43
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Awareness of ‘Right and Wrong’ by a child falls under :
(1) Moral domain

(2) Social domain
(3) Physical domain
(4) Emotional domain

el H HE SR Tera’ o E it § 9 R &3 % g A g 2

(1) faew &=

(2) | &

(3) iifaes &

(4) FTEHE &
Options:-

«1, Option ID :- 169,
« 2, Option ID :- 170,
« 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 44

The sensory development like “smell’ falls under which domain ?
(1) Communicative domain

(2) Adaptive domain

(3) Physical domain
(4)

4 Social domain

‘o’ S8 Hagt fasr frifera | § form &3 % siia e ® 2

(1) S &=
(2) STgFHEH A
(3) ofifea &
(4) QISR &
Options:-

«1, Option ID :- 173,
« 2, Option ID :- 174,
« 3, Option ID :- 175,

=« 4, Option ID :- 176,
Answer Given:- 1, Option ID : -173

Question ID:- 45
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Which one of the following characteristic feature is prominent among ‘ Adolescents’ ?
(1) High degree of concentration
(2) Good degree of commitment
(3) Freedom and Revolt feeling
(4)

4) Shows sympathy to everyone

fr=ifera 5 | = ot sifvensfores fadmar fean’ Huga € 2
(1) SAATEH ThI

(2) T &R H gliaas

(3) T A fadig sl e

(4) & e & gfd FerY 1 ueeH
Options:-

«1, Option ID :- 177,
« 2, Option ID :- 178,
« 3, Option ID :- 179,

=« 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46

What could be the major challenge to tackle adolescence in school ?
(1) Restlessness

(2) Low attention
(3) High degree of wisdom
(4) Aggression

Tagamer & fereierean &t aenst ¥ froes | @ gAd #=1 & Tehd § 2

(1) ==

(2) =uF H

(3) A W H g

(4)  SATSRTHHRAT
Options:-

«1, Option ID :- 181,
« 2, Option ID :- 182,
« 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 2, Option ID : -182

Question ID:- 47
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As a teacher, what would you suggest to a parent to deal with their children to enhance
learning ?
(1

) To buy more relevant books and ask them to read.
(2) To seek counselling from experts.

)

)

(3) To spend quality time, by both parents.
(4) To give them pocket money as incentive for studying.

HeAIF % Y H 29 g 1 2 srern F fem iy ¥ gy § g 8 2
(1) 3R 3T AT s Sea 3 3% Ted & fog &% |

(2) = fadmsi | wsl o & fa wa

(3)  HAT-TUd ST okl == o Wi U FHE Add i h oy e

(4) APTIA % Ige UIHIET & ©9 § 37 Uiche 1 &4 o fore &wan |

2

Options:-

«1, Option ID :- 185,

« 2, Option ID :- 186,

« 3, Option ID :- 187,

=« 4, Option ID :- 188,

Answer Given:- 2, Option ID : -186
Question ID:- 48

What is secondary socialising agency ?

(1) Home
(2) School
(3) Family
(4) Media

() Te

(2) %«

(3) HURER

(4) SAHYS HIEAH
Options:-

«1, Option ID :- 189,
« 2, Option ID :- 190,
« 3, Option ID :- 191,

« 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49
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Which one of the following steps would enhance learning in a child ?
(1) Regular interaction of parents with teachers on a child’s activities at home.
Regular PTA meetings.

(2)
(3) Promote co-curricular activities.
(4)

Special counselling to the child by experts.

fr=ifera & @ fopg oen & worasy oo & st § gfg @it 2

(1) =R R a= & FrEwam & g § i dv ) afaaeesi $k A 99 9ai
(2) Trafaa w0 | sfusEs s 9 F SSFH 1 STAEH

(3) Te-9rea=al sl i SgEn 21

(4) Tavrs gr1 sereRi w1 T st fean s

Options:-

«1, Option ID :- 193,
» 2, Option ID :- 194,
« 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50

How does home play a vital role to support school ?

(1) To guide teachers and school management.

(2) Home can extend financial support to school.

(3) By reviewing school activities at home and offer constructive suggestions.
(4)

4) By organising community programmes by children.

forgame™ =1 Tem &5 4 T8 @t Ry yeR § Tewaye yfiew § 2
(1) FreAFgs iR fomnea % yaua &1 AnieeH

(2) =R ¥ oo i faxda qerma < < W

(3) =R W fommerm =+ wfafafemi 1 gwian &t HR TARHS gId Sohl
(4) STeThi R WNETFeh g 1 SESH

Options:-

«1, Option ID :- 197,
« 2, Option ID :- 198,
« 3, Option ID :- 199,

=« 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Question ID:- 51
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It is the responsibility of which of the following socialising agencies to provide happy and positive
growing environment for effective learning :

(1) Media
(2) School
(3) Family
(4) Teachers

gyl sifer % g g@s SR 99Neas fGe™ &1 9ea 9eF & @ aifae Feifea § 9 e
TSI USiH! 1§ 2

(1) STHER AEad

(2) fagarem

(3) dfEw

(4) SATFIS
Options:-

«1, Option ID :- 201,
« 2, Option ID :- 202,
« 3, Option ID :- 203,

=« 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 52

What are the ‘Developmental tasks’ in a child's growth ?

(1) The activity performed by a child

(2) The skill which is demonstrated during childhood.

(3) Learning of life skills at the appropriate time and stage of childhood
(4)

4)  The task to be accomplished at early childhood

T F Hafs | fawmarers s F=n e ?
(1) =T gr fearfed srishar

(2) =TI § YEeE v

(3) SUFF THA H IR SeAE % HWel =90 H e Hiee H S
(4) swfyer areaERa § 90 fee e #

Options:-

«1, Option ID :- 205,
« 2, Option ID :- 206,
=« 3, Option ID :- 207,

=« 4, Option ID :- 208,
Answer Given:- 1, Option ID : -205

Question ID:- 53
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Which one of the following could be attributed to psycho-motor domain of a child ?

(1) Feeling
(2) Thinking
(3) Cycling
(4) Crying

Treifera @ ol drerer & HArIfaes &5 &1 931 € S Hhdl § 2

(1)  wre
(2) Ta=
(3) HEfFe I
(4 T

Options:-

«1, Option ID :- 209,
« 2, Option ID :- 210,
« 3, Option ID :- 211,

« 4, Option ID :- 212,
Answer Given:- 1, Option ID : -209

Question ID:- 54

The following example could be related to cognitive learning of a child :
(1) Exploring types of plants in garden

(2) Dancing

(3) Singing

(4) Crying

=g ° 9 forg SSeo & 915t & SaHeass S1furm 8 e fhar < g & 2
(1) == B 9189 % Yo o1 T ST

(2 TH
(3) TmEA
(4) T
Options:-

«1, Option ID :- 213,
« 2, Option ID :- 214,
« 3, Option ID :- 215,

=« 4, Option ID :- 216,
Answer Given:- 1, Option ID : -213

Question ID:- 55
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Adolescence is the phase between :
(1) 15 - 20 years
(2) 18- 21 years
(3) 10- 19 years
(4)

4 21 - 25 years

Terstrrersen feifera § € fopm 51 o =01 &gl &Il € 2
(1) 15920 79 & &=

(2) 18921 99 & ==

(3) 1091994 % &4

(4) 2192599 & &4
Options:-

«1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,

=« 4, Option ID :- 220,
Answer Given:- 3, Option ID : -219

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Subject : UTL_Q56-Q70_PGTCS
Question ID:- 56

The change in behaviour is commonly known as :
(1) Understanding

(2) Thinking
(3) Learning
(4) Feeling

Options:-

«1, Option ID :- 221,
« 2, Option ID :- 222,
« 3, Option ID :- 223,

=« 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57
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‘Learning’ is a mental activity comes under :
1) Behavioural theory of learning

(
(2) Constructive theory of learning
(3) Connective theory of learning
(

4) Cognitive theory of learning

‘siferm’ wek Ol fe ® ) =8 fAeifea § 4 farger erwai ot © 2

(1) =i = TR fagid

(2) AT o1 T fEgia

(3) @A 1 el fasia

(4) ST 1 WA fagi
Options:-

«1, Option ID :- 225,
« 2, Option ID :- 226,
« 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 2, Option ID : -226

Question ID:- 58

The student-teacher relationship is better in :
(1) Constructivism

(2) Behaviourism
(3) Cognitivism
(4) Connectivism

Tarneff-a1earae Heiy freifera § & forgd St a1 22

(1) TEIER

(2) THERNERE

(3) HIAFHEHAER

(4) HEFER
Options:-

«1, Option ID :- 229,
« 2, Option ID :- 230,
« 3, Option ID :- 231,

=« 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59
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How could learning be enhanced in classroom ?
(1) Through motivation

) Through frequent testing
(3) Humour

) Through drilling

e § Afer HY agrEn S e @ 2

(1) &Afqgeor & ey §

(2) ER-SR Y& % HiEEH §

(3) A % HEAH H

(4) @R IR % Hq1eA9 9
Options:-

«1, Option ID :- 233,
» 2, Option ID :- 234,
« 3, Option ID :- 235,

=« 4, Option ID :- 236,
Answer Given:- 1, Option ID : -233

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 60

What is the significance of ‘Assessment” in classroom ?

(1) Support and remediation

(2) Measurement of learning level
(3) Evaluation of understanding
(4)

4) To know the progress of the child.

Fe H ' STher H T HEd € 7
(1) e siK e

(2)  STfErTH TR R =
(3) THH I qeHiHA
(4) @Metek 1 WA ST

Options:-

«1, Option ID :- 237,
« 2, Option ID :- 238,
« 3, Option ID :- 239,

=« 4, Option ID :- 240,
Answer Given:- 2, Option ID : -238

Question ID:- 61
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What is ‘Summative assessment’ ?

(1) Carried out at the end of academic year.
(2) Carried out every month

(3) Paper - pencil test
(4)

4 Oral test every day

HHIERAMICHSR Hodihd (T T) &1 6 ?

(1) &% Hedis Siafores ad & ofq § forar s 21
(2) U8 HEAlF Tou HIg | foman san ¥

(3) % HRTS-Ufget T 2|

(4) @& yfafes formn straren Hifaes e €1
Options:-

«1, Option ID :- 241,
« 2, Option ID :- 242,
« 3, Option ID :- 243,

=« 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62

What could be the demerit of using ICT tools in classroom ?
(1) Impairment of independent thinking

(2) Costly tools

(3) Late bloomers can not understand.

(4) Children will be addicted to technology.

el H G IR GuR SrRifent 3 SUsHl % 9ET o 9 S @ Gl § 2
(1) T=da foa ufma sawg & s |

(2) 3 IUHTW HE

(3) facia § faefd 219 a1t st 30% qeaH § & 99% Hehd 2 |
(4) @TcTeh! 21 UTENTeR! 1 g @ 9 S |

Options:-

«1, Option ID :- 245,
« 2, Option ID :- 246,
« 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63
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Which one of the following could be Audio- Visual instructional material in classroom ?

(1) Radio

(2) Television
(3) Text books
(4) Calculators

Treifera & © o0 e § gog-gva Toreor |l & werdt 8 7
(1) e

(2) <eifasH

(3) UIATE®

(4) FHeForet ()
Options:-

«1, Option ID :- 249,

« 2, Option ID :- 250,

« 3, Option ID :- 251,

« 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64

What is the purpose of “Year plan’ in school ?
(1) To execute goals smoothly

(2) To recruit teachers in time
(3) It provides direction for action to achieve fixed goals
(4) To rationalise financial resources

forermer & “anfifer s’ =1 1 WS @ 2

(1) <&l &1 gI% 9 9 FEradT

(2) HHF T SEATYHI I T

(3) zEH fFifta @l =1 wift 79 %1 & fag feum g & 2 )
(4) Tocita SoreEl o1 gfager S

2

Options:-

«1, Option ID :- 253,
=« 2, Option ID :- 254,
« 3, Option ID :- 255,

=« 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65
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According to ECCE in NEP-2020, the following needs to be achieved on priority in primary

schools :

(1) Functional Literacy and Numeracy
2)
(3)  Universalisation of Elementary Eeducation
(4) Free and Compulsory Education till class VIII

Foundational Literacy and Numeracy

et foen Hifa 2020 7 £ & €t € % 7aR wufte faurer | feifea 5 9 frm smian = mafasar &

STTHR TR g foRan 5 2 2
(1) YehmEieTs FERd AR G&EE

(2) SR | ik HermEE

(3) It foren =1 e

(4) T Fan g Fges o sifrard fren
Options:-

«1, Option ID :- 257,
« 2, Option ID :- 258,
« 3, Option ID :- 259,

=« 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 66

What could be the better learning space in classroom ?
(1) Non-threatening and supportive environment
(2) Efficient teachers

(3) Classroom with good ventilation

(4) ICT tools

FHa T g SETH T 71 B Tl 2 2
(1) g 3R e A

(2) FIA FATH

(3) UM AMIAAGH Hel

(4) FI IR HER Gl & weE
Options:-

«1, Option ID :- 261,
« 2, Option ID :- 262,
« 3, Option ID :- 263,

« 4, Option ID :- 264,
Answer Given:- 1, Option ID : -261

Question ID:- 67
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Which one of the following could be the barrier of learning ?
(1) Fear of failure
Poor ventilation

(2)
(3) Noisy surroundings
(4)

Aggressive principal

Treifera & 9 = siferrg o wneeR 8 S § 2
(1) STEFeR 9

(2) @UE aEEd

(3) VIRFH qHE
(4) STBRIHS =M
Options:-

«1, Option ID :- 265,
» 2, Option ID :- 266,
« 3, Option ID :- 267,

« 4, Option ID :- 268,
Answer Given:- 1, Option ID : -265

Question ID:- 68

According to Educational Psychology, what is the best teaching method for enhancement of
learning ?
(1) Constructive learning

(2) Experiential learning
(3) Project based learning
(4) Experimental learning

Toren wAIfas o SR STfer o HasH o forg feifed | 9 s weim e fafy g2
(1) TEAEmE! s

Options:-

«1, Option ID :- 269,
« 2, Option ID :- 270,
« 3, Option ID :- 271,

« 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69
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What is the role of teachers in constructive learning ?
(1) Imposes conditions on learners

(2) Open end questions are given to learners

(3) Gives freedom to learners
(4)

4 Dictates terms with learners.

TEHTCTeR ST B 7T whi ] e § 2

(1) =99 stfermged W o stedifaa i S 8
(2) zuH sAftEmHeRal @1 oM weA fou s )
(3) ZEH ARl 1 e & St

(4) SHH ARFHHA R T ¥ A1l S S

Options:-

«1, Option ID :- 273,
« 2, Option ID :- 274,
« 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 70

The teacher controls the environment in :
(1) Behaviourism

(2) Cognitivism
(3) Naturalism
(4) Realism

sreaTaer Freiferd § 4 forgd wafern =t feifsa s 22

(1) =HAIRERER
(2) WHIHAR
(3) HehidaE
(4) FURER
Options:-

«1, Option ID :- 277,
« 2, Option ID :- 278,
« 3, Option ID :- 279,

=« 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE SOL PE_Q71-Q80_PGTCS

Question ID:- 71
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‘Cerebral Palsy” a kind disability comes under :
(1) Intellectual disability

(2) Mental disability

(3) Physical disability

(4)

et

4)  Sensory disability

yafegshg MY (TEE Ted!) Th YR & faer 81 98 fAifea § 4 fegsd siaiq omm &2

(1) dSifge g

(2) HFATEE e

(3) WRIfER fFovmeEa

(4) Hog Helfem foemerm
Options:-

«1, Option ID :- 281,
« 2, Option ID :- 282,
« 3, Option ID :- 283,

« 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

‘Dysgraphia’ is characterised by :

(1) Poor learning

(2) Poor vision

(3) Poor hand writing
(4) Poor speech

‘Temnfean’ | = arfiga & 2

(1) e aferm
(2) o e

(3) I foamEe
(4) T Afverf
Options:-

«1, Option ID :- 285,
« 2, Option ID :- 286,
« 3, Option ID :- 287,

=« 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73
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What is the role of teacher while teaching disabled children ?

(1) Resort to Tailor made teaching techniques to
2

(2) Special classes separately for disabled.
(3) Special incentives for disabled.
(4)

4) Special furniture to be arranged for disabled.

feeain arereh % AETT | $7eATgs i an yfire § 2

(1) fe=ai srerhl & 31gehel I JF18 ST deheieh <l SFH A
(2) fesain sreni & fag stem | favm wansti w1 SEsE

(3) Te=gin seRl & fau fady s

(4) fesai sTeRi & fau fomre W= i sewen

Options:-

«1, Option ID :- 289,
« 2, Option ID :- 290,
« 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

suit disabled children.

Question ID:- 74

What is School Development Plan ?

(1) Plan for School Architecture

(2) Document for Academic Plan

(3) Road Map that sets out for success of school
(4)

4)  Guide to implement strategies

feremer fomrrer s @ 82

(1) o =i aRgwen & a9 § g

(2) Sigfores Arsn Heel gwes

(3) Tanmera =t wwerdn « foag Fuifa Arighm
(4) SR % wEFEEA B HRRYH
Options:-

«1, Option ID :- 293,
« 2, Option ID :- 294,
« 3, Option ID :- 295,
= 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75
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(1) Home work Time Table
Sports Time Table

4) C.C.A. Time-Table

(1) & %4 599 JRO
IS THT HROf

2

+

Options:-

«1, Option ID :- 297,
»« 2, Option ID :- 298,
« 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Normally what type of Time-Tables are prepared in schools ?

(2)
(3) Class Time Table and Teacher Time Table
(4)

foremerl & A= fohe U @t HHE-aifeiehl 09R & Skl § 2

(2)
(3) HET HA TR 3R TR HHY FIRON
(4) He uTEErEt el i w9\

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 76

(2) Parent Teacher Association
(3) National Social Service
(4)

4) National Cadet Corps

(1) R SHR e

(2) AfywEE SEYs e

(3) S WA el (TH. TH. TH.)
(4) T FE HR (TA. . HL)

Options:-

«1, Option ID :- 301,
« 2, Option ID :- 302,
« 3, Option ID :- 303,

=« 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Which one of the followings would form bridge between School and Home ?
(1) Non-Governmental Organization

freifera 9 9, =0 fomrer @R U8 & &= 99 &1 & wm ?

Question ID:- 77
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What is the role of ‘Morning Assembly” in child's development ?
(1) It influences positively on child to develop social value and self-esteem
Promotes discipline

(2)
(3) Place for disseminating information
(4)

Promotes Punc tuality

aTeTeh o foeh® | UTd: el STl hi o Yfeen § 2

(1) S5 gmifsie gea 3R Acg-goH fasfag e § derhl W GhRehes Jug el § |
(2) THH TR H SgrEr e 7

(3) & oA JHIT e Hl T € |

(4) =99 gug-Teaar 1 e o g1

Options:-

«1, Option ID :- 305,
« 2, Option ID :- 306,
=« 3, Option ID :- 307,

=« 4, Option ID :- 308,
Answer Given:- 1, Option ID : -305

Question ID:- 78

What is ‘Balavatika” Programme envisaged in NEP-2020 ?
(1) Learning of a child after 5 years of age.

(2) The learning of a child prior to the age of 5.

(3) Learning of a child in primary section.

(4) Learning of a child up to class VIIL

ey e =ifa, 2020 § fewfeqa ‘amcanfesm’ Friwa %2

(1) 5799 =l Y & 9N Aerh/ATas w1 3

(2) 573Y i A WId A H Y Arerh/anfcrsh = sty
(3) Wi hEn H sieteh/sferehl 1 AfEH

(4) ST e T ScTh/ferRl 1 3TferTH

Options:-

«1, Option ID :- 309,
=« 2, Option ID :- 310,
« 3, Option ID :- 311,

=« 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79
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What is the aim of "DIKSHA’ [Digital Infrastructure for Knowledge sharing] proposed in NEP

2020.
(1) ICT interface with Teaching
(2) Digital Platform for students

(3) Technological Intervention to achieve Foundational Literacy and Numeracy in Primary

Education.
(4) Digital Platform for competitive examinations

et fove +ifa, 2020 & weafead ien (fesiea SHRgaet R Aol SAfaT) &1 %11 @8 & 7
(1) AT § o1 397 HoR Wit & 1w |@iea (3206)

2) fernfofai & fou fesftea wewM

4)  gfeErt wlianst  fay fesitea wiewH

Options:-

«1, Option ID :- 313,
« 2, Option ID :- 314,
« 3, Option ID :- 315,

« 4, Option ID :- 316,
Answer Given:- 3, Option ID : -315

(2)
(3) wnfies fommeri | gfact marar oft Sermsm o asa W w3 6 fon dEifres swaa
(4)

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 80

Who applied ‘Pragmatism’ in Education ?

(1) Watson

(2) Rousseau
(3) Hegel

(4) John Dewey

Torem & &3 § ‘saafera fagia’ (dmafes) % gfques e 92

(2) FW
(3) B
(4) A
Options:-

«1, Option ID :- 317,
« 2, Option ID :- 318,
« 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 1, Option ID : -317

Subject : CS_Q81-Q180_PGTCS

Question ID:- 81
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Which of the following is not hardware of a computer system ?
(1) KEYBOARD

(2) PRINTER
(3) OPERATING SYSTEM
(4) MOUSE

Trefafad § | % 9 % Fre yune (fe) 1 ged® 78 © 2

(1) KEYBOARD
(2) PRINTER
(3) OPERATING SYSTEM
(49 MOUSE
Options:-

«1, Option ID :- 321,
« 2, Option ID :- 322,
« 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

Which out of the following is the least capacity of memory unit compared to other options ?

(1) MB
(2) KB
(3) GB
(4) TB

Trfafad 5 9 foraent J6r e =) & o7 famredi & o § Jod #H ¢ 7

(1) MB
(2) KB
(3) GB
(4) TB
Options:-

«1, Option ID :- 325,
« 2, Option ID :- 326,
« 3, Option ID :- 327,

« 4, Option ID :- 328,
Answer Given:- 2, Option ID : -326

Question ID:- 83
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A collection of 4 bits is known as

(1) BYTE

(2) WORD

(3) NIBBLE

(4) K.BYTE

4 T92q % TE =1+ FEd 8 7
(1) BYTE

(2) WORD

(3) NIBBLE

(4) K.BYTE

Options:-

«1, Option ID :- 329,
« 2, Option ID :- 330,
« 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 84

is used ?

(1) RAM

(2) ROM

(3) BIOS

(4) 170 BUS

Torgent v fomenr i 2 2
(1) RAM
(2) ROM
(3) BIOS

3)

(4) I/0O BUS
Options:-

«1, Option ID :- 333,
» 2, Option ID :- 334,
« 3, Option ID :- 335,

=« 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

While working on computer, if we open a document in MS OFFICE WORD, which of the following

T FHPZEL W HH HW TAF Ffe 89 MS OFFICE WORD ¥ &3 SleFfHe @ied ¢ af ffafead 9 9

Question ID:- 85
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is not an operating system.

(1) UNIX

(2) WINDOWS
(3) ANDROID
(4) MS OFFICE

Frfafaa 9 9 & 91t g faen w6 €2

(I) UNIX

(2) WINDOWS

(3) ANDROID

(4) MS OFFICE
Options:-

«1, Option ID :- 337,
=« 2, Option ID :- 338,
« 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 4, Option ID : -340

Question ID:- 86

What will be the result of the following Boolean expression ?
NOT True OR False AND True

1) False

(2) True

(3) Error in Expression

(4 No result

Trefafas seita =iwe 1 gfom 0 2m 2
NOT True OR False AND True
(1) False

(2) True

(3) Error in Expression

(4) No result
Options:-

«1, Option ID :- 341,
« 2, Option ID :- 342,
« 3, Option ID :- 343,

=« 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87
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Which Boolean expression is correct interpretation of the following logic circuit ?

o

1)  (X+Y)
2 &Y)
3) X@®Y
(4) (XeY)

Trefafen o aftvy (i Qi) i 7 = aren geid SH9F hF 98 2

(1)

(2) (Xﬂ

(3) X@Y

(4) (XaY)
Options:-

«1, Option ID :- 345,
« 2, Option ID :- 346,
« 3, Option ID :- 347,

= 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 88

Which of the following represents Absorption Law correctly ?
(1) X+YZ=(X+Y)(X+Z)

(2) X+XY=X
(3) (X+Y)=XY
@)  (X-X'=x

Frefafed § 9 $7 o 2199w 99 (TEwE a1) &1 96 ®9 9 feiad war g ?
(1) X+YZ=(X+Y)(X+2)

(2) X+X¥Y=X
3 X+Y)=xXY
(4) (X X)=X
Options:-

«1, Option ID :- 349,
« 2, Option ID :- 350,
« 3, Option ID :- 351,
= 4, Option ID :- 352,
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Answer Given:- 2, Option ID : -350

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 89

Which of the following is exact equivalent of given binary number in Octal Number ?

(101110001011),
(1) (232023)g
(2) (ABA)g

(3) (5613)g

(4) (3165)g

Frfafad § | @7 I Hen srererd gen <t T fgenard den F faora guge €2
(101110001011),

(1) (232023),

(2) (ABA)g

(3) (5613)4
(4) (3165)g

Options:-

«1, Option ID :- 353,
« 2, Option ID :- 354,
« 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90

What is full form of ISCII encoding scheme ?

(1) Indian Standard Code for Interchange of Information
( Indian Standard Code for Information Interchange
(3) Indian Standard Coding for Information Interchange
(4) Indian Scheme of Coding for Information Interchange

T T Gl M M TTRITST Thim =1 ferega wfm =41 8 2

(1) Indian Standard Code for Interchange of Information
( Indian Standard Code for Information Interchange
(3) Indian Standard Coding for Information Interchange
(4) Indian Scheme of Coding for Information Interchange

Options:-

«1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,

=« 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Question ID:- 91
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Which of the following cannot be registered under cyber crime ?
(1) Sending pornographic material online

(2) Stealing of brand new internet routers from a showroom

(3) Accessing CCTV camera of a private company without their knowledge
(4

Sending threats on social media accounts

Treferfeg § § fFg oHe &1 OEsR 390 & q98d €51 T8l TRl S Hehdl § 2

(1) SFeET Avelia JEEl 47

(2) forelt I-%9 | T 74 g U3 AR/ HAT

(3) Toret yrgde ST il SR o foT 3 E El 2 A HER T TS
(4) Hrewel HifeAl Tehise W yHHT dS

Options:-

«1, Option ID :- 361,
» 2, Option ID :- 362,
« 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92

Which of the following is an example of a very strong password ?

(1) STRONG
(2) abcl234

(3) admin

(4) Ap9#2@cQ

Frafafad § | %1 91 T &g 7eed Eas &1 3eR § 2

(1) STRONG

(2) abcl234

(3) admin

(4) Ap9#2@cQ
Options:-

«1, Option ID :- 365,
« 2, Option ID :- 366,
« 3, Option ID :- 367,

=« 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93
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Which of the following protocol is used to upload and download files from remote
server/computers ?

(1) SMTP
(2) VolP
(3) HTTP
(4 FIP

e we/aToET | HEd dueis SR SEAare w & fau fefafas § § feg e o ybm fwa
SR ?

(1) SMTP
(2) VolP
(3) HITP
(4) FTP
Options:-

«1, Option ID :- 369,
« 2, Option ID :- 370,
« 3, Option ID :- 371,

« 4, Option ID :- 372,
Answer Given:- 4, Option ID : -372

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 94

Garuda Skill Education has set up their new skill training campus in a place near Pune. The
campus has three close by buildings connected with each other using CAT6 cable. Which type of
network is established in the campus ?

(1) PAN
(2) MAN
(3) LAN
(4 WAN

TEe kel TS 9 01 F TSR UEh TH W o9 7o fema o s venfue feeen €1 Seew | I
Foreient fafee € St CAT6 ol 9 31od § <1 g8 €| w09 § form Wehm o1 Aeadh fua fopen o € 2

(1) PAN
(2) MAN
(3) LAN
(4) WAN
Options:-

«1, Option ID :- 373,
« 2, Option ID :- 374,
« 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375

Question ID:- 95
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Which of the following is not a Network device ?

(1) Switch
(2) Router
(3) Hub
(4) RAM

Trefeafad § | =1 wF Jeadh feany & 2 2

(1) f==

(2) WIS

(3) =d

(4 SRTTH (RAM)
Options:-

«1, Option ID :- 377,
« 2, Option ID :- 378,
« 3, Option ID :- 379,

=« 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

Which of the following wired medium will be able to have highest speed data communication
possible ?

(1) Single pair telephone cable
(2) Fiber optic cable

(3) Co-axial cable
(4)

4) Twisted pair cable

Frfafiad 5 9 forg R @eam & g0 3599 71T ST S0 §9d § ?

(1) THA I TAHA Fhaa
(2) TEREER SAMeF Had

(3) THIE (H-ufrmad) FHad
(4) =FEfid (2fafes) Heaw

Options:-

«1, Option ID :- 381,
« 2, Option ID :- 382,
« 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 2, Option ID : -382

Question ID:- 97
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Which of the following is an invalid IP address ?
(1) 100.0.10.32

(2) 255.255.255.10

(3) 192.168.10.15

(4) 256.10.12.5

frefafad 8 @« o uw 3y o 0 (IP) 1e 7 §72
(1) 100.0.10.32

(2) 255.255.255.10

(3) 192.168.10.15

(4) 256.10.12.5

Options:-

«1, Option ID :- 385,
« 2, Option ID :- 386,
« 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 2, Option ID : -386

Question ID:- 98

What is full form of ARPANET ?

(1) Advancement of Research Project Agency Network
(2) Advanced Research Project Agency Network

(3) Add on Research Project Agency Network
(4)

4) American Research Project Agency Network

TR 9t T $ & (ARPANET) &1 Q1 19 1 & ?

(1) Advancement of Research Project Agency Network
(2) Advanced Research Project Agency Network

(3) Add on Research Project Agency Network

(4) American Research Project Agency Network

Options:-

«1, Option ID :- 389,
»« 2, Option ID :- 390,
« 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99
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Which of the following is not an example of cloud computing services ?

(1) SaaS
(2) IaaS
(3) PaaS
(4) SaaP

Trefafad § | % 91 Fase Fefdn idds w1 TF 3[e T4 ¢ 2

(1) SaaS
(2) IaaS
(3) PaaS
(4) SaaP
Options:-

«1, Option ID :- 393,
« 2, Option ID :- 394,
« 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 4, Option ID : -396

Question ID:- 100

Which of the following is not an application of Al ?
(1) Chat Bot

(2) Financial Accounting System

(3) Driverless Car
(4)

4 Face Recognjtion System

Frefafad 5 9 @0 © oné (A1) ! TF TeliHH T8 € 2
(1) == s (Chat Bot)

(2) wEAREE iRl fawen
(3) TEEEH &R

(4) TE fefem fawn
Options:-

«1, Option ID :- 397,
« 2, Option ID :- 398,
« 3, Option ID :- 399,

=« 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Question ID:- 101
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Which of the following is an invalid identifier in Python Programming Language ?

(1) mnone
(2) False
(3) true
(4) For

g EnfaT das d efafad 9 sF 9 UE 9 STEe fewa § 2

(1) none
(2) |False
(3) true
(4) For
Options:-

«1, Option ID :- 401,

« 2, Option ID :- 402,

« 3, Option ID :- 403,

=« 4, Option ID :- 404,

Answer Given:- 4, Option ID : -404
Question ID:- 102

Which of the following is not a valid operator in Python ?

@ =>
3 //
(&) #

g § frefafad § 9 90 91 T 9 e T 22

(1) ==
2y =>
3 //
(4)
Options:-

«1, Option ID :- 405,
» 2, Option ID :- 406,
=« 3, Option ID :- 407,

« 4, Option ID :- 408,
Answer Given:- 4, Option ID : -408

Question ID:- 103
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Identify the correct output of the following Python arithmetic expression :
1+(2-3) x4« %5//6

1 -171
2) 172
3) =170
(4) 170

foreferfian e S i F T STReE H e He ;
1+4(2-3) «4%%5//6

(1) —-171
(2) 172
(3) - 170
(4 170
Options:-

«1, Option ID :- 409,
« 2, Option ID :- 410,
« 3, Option ID :- 411,

=« 4, Option ID :- 412,
Answer Given:- 1, Option ID : -409

Question ID:- 104

Evaluate the following expression :
not True or not False and False

(1) True
(2) [False
(3) None
(4) will generate an Error

Frefefad =astes 1 A7 91 HIfS |
not True or not False and False
(1) True

(2) False

(3) None

(4) will generate an Error

Options:-

«1, Option ID :- 413,
« 2, Option ID :- 414,
« 3, Option ID :- 415,

=« 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Question ID:- 105
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Identify the correct output of the following Python Command :
print (10 or 40)

1) 10
(2) 40
3) 50
(4) 400

Frefafed a=eE F9e F 98 SREyE & 989H Hife
print (10 or 40)

(1) 10
(2) 40
(3) 50
(4) 400

Options:-

«1, Option ID :- 417,

« 2, Option ID :- 418,

« 3, Option ID :- 419,

=« 4, Option ID :- 420,

Answer Given:- 3, Option ID : -419
Question ID:- 106

Identify the correct output of the following Python program segment ?

Pi=3.141592
print ('%.4f %Pi)
(1) 3.14

(2) 3.1415

(3) 3.1416

(4) 3.0000

TrefefEd areE T 92 % HEl $82Ye & Jgd Hifau
Pi=3.141592

print ('%.4f' %Pi)

(1) 3.14

2) 3.1415
3) 3.1416
)

4)  3.0000

(
(
(
Options:-

«1, Option ID :- 421,
« 2, Option ID :- 422,
« 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 2, Option ID : -422
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Question ID:- 107

Which of the following is immutable data type in Python ?

(1) Set

(2) List

(3) Tuple

(4) Dictionary

TgE # ufadia (sHrgead) grl 2Ry fFefafed § & w9 g ?

(1) Set

(2) List

(3) Tuple

(4) Dictionary
Options:-

«1, Option ID :- 425,
« 2, Option ID :- 426,
« 3, Option ID :- 427,

=« 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 108

If we have 2 Python lists as follow :
List1 =[10, 20, 30]

List2 = [40, 50, 60]

If we want to generate a list List3 as
List3=[10, 20, 30, 40, 50, 60]

then best Python command out of the following is :

(1) List3=Listl + List2

(2) List3=Listl.append (List2)
(3) List3=Listl.update (List2)
(4) List3=Listl.extend (List2)

=fe g I = € T 2 9eH (Python) o= ©
List1 =[10, 20, 30]

List2 =[40, 50, 60]

7fg g9 T IR fore List3 giota & =ed € :
List3 = [10, 20, 30, 40, 50, 60]

a1 fFrefafad o 9 waiay g wuie & | 8 2
(1) List3=Listl + List2

(2) List3=Listl.append (List2)

(3) List3=Listl.update (List2)

(4) List3=Listl.extend (List2)
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Options:-

«1, Option ID :- 429,
=« 2, Option ID :- 430,
« 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 2, Option ID : -430

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 109

Identify the correct output of the following Python
L=[3,3,221,1]

L.append(L.pop(L.pop()))

print(L)

(1) B:2;,2 1, 3]
(2) [3,8,2 2 3]
(3) [.3:2 2 1]
4 [1,1,2, 23, 3]

Frafafad amea #e & W&l 3T8SeYe &l WM HiT

L={8;8, 2,2,1,7]
L.append(L.pop (L.pop()))

print(L)

(1 132,21, 3]
2) [3.58,2 2 3]
(8} [1:3:2;2 1]
4 1.1,2 2 3 3]
Options:-

«1, Option ID :- 433,
« 2, Option ID :- 434,
« 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436

code :

Question ID:- 110

Identify the output of the Python Command :
print(22.0/ /5)
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2 TS A FHE F AP FI TETH SIS
print(22.0/ /5)

(1) 4.4
(2 4
(3) 4.0
4 2

Options:-

«1, Option ID :- 437,
« 2, Option ID :- 438,
« 3, Option ID :- 439,

=« 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437

Question ID:- 111

Find the output of the following Python code :
L1=[1, 4, 3, 2]

L2=L1

L1-sort( )

print (L2)

(1) [1,4,3, 2]
(2) [1,2 3 4]
(3) 1432
(4) 1234

frfafad ueem e % 218eye &l udl T
L1=[1, 4,3, 2]

L2=11

L1-sort( )

print (L2)

(1) [1,4,3, 2]
2 123 4%
(3) 1432
(4) 1234
Options:-

«1, Option ID :- 441,
« 2, Option ID :- 442,
« 3, Option ID :- 443,

« 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112
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If PL is a Python list as follow :

PL=["Basic’, ‘'C’, ‘C++]

Then what will be the status of the list PL after
PL.sort (reverse=True) ?

(1) [‘Basi¢,"Cl,"C++]

(2) [C++,'C, ‘Basic]

(3) [C', "C++, ‘Basic’]

(4) [‘Basic’, ‘'C++, ‘C]

s U qmer fore PL 7= 7R 8

PL=["Basic’, ‘C’, ‘C++]

l

PL.sort (reverse = True) % U¥HTId oh! T =1 81T 2
(1) [Basic, ‘C, ‘C++]

(2) [C++,C, ‘Basic]

(3) [T, ‘C++, ‘Basic']

(4) [‘Basic’, “C++, ‘C’]

Options:-

«1, Option ID :- 445,
« 2, Option ID :- 446,
« 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 2, Option ID : -446

Question ID:- 113

Identify the correct output of the following Python program.
CHARR= [[“Af’ A‘Bn‘]! [A‘Cf’ l‘Df]l [IEFI IFJ]]

print(CHARR [1] [1])

(1) ‘A
@ "B
(3 “C
(4) D’

Frefafed aem Wi & Hel ST8eqe i 98=H Hifsy
CHARR=[['A’, ‘B], [C, ‘D], [E, F]|
print(CHARR [1] [1])

(1) ‘A’
(2) A‘Bf
(3 ‘C
O
Options:-
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«1, Option ID :- 449,
» 2, Option ID :- 450,
« 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 114

The following Python list S is implemented as a stack.
S=[10, 12, 0, 4, 6]

If 10 is the element added (pushed) last into the stack S, which command from the following
option is best to remove (pop) an element from the Stack S, if not empty.

(1) S.pop(0)

(2)  Spop()
(3) S.remove( )
(4) S.remove(0)

Frefafad w=mem fae S %l T stack & 9§ swwEiftad fean T 21

S=[10, 12, 0, 4, 6]

Afe stack S H 10 TelHe 1 i § Sirer (g&mn) T § @ Frefafad fases § 9 #F W 77 stack S 741
Greft 7 81, § TeAtHe 1 g2H (pop) 9 TaH & ?

(1)  S.pop(0)

(2)  S.pop()

(3) S.aremove( )

(4) S.remove(0)
Options:-

«1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 1, Option ID : -453

Question ID:- 115

Traditionally the end of a stack from where PUSH (additional) and POP(deletion) take place,
popularly known as :

(1) FRONT
(2) TOP
(3) LIFO
(4) FIFO
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TR &9 9 R ©oF (Stack) % 37§ w81 @ PUSH (Sig) 3R POP (faeiram) @i &, #11 s & ?

(1) FRONT

(2) TOP

(3) LIFO

(4) FIFO
Options:-

«1, Option ID :- 457,

» 2, Option ID :- 458,

« 3, Option ID :- 459,

=« 4, Option ID :- 460,

Answer Given:- 2, Option ID : -458
Question ID:- 116

Identify the correct output of the Python code :
L1=[1, 2, 3]

L2=[4, 5]

L3=[6, 7]

Ll.extend(L2)

Ll.append(L3)

print(L1)

(1) [1,2,3,4,56,7]

2) [1,2,3,[4 5], 6 7]

8 2.3 4 5,6, 7]1

)

[1, 2,3, 4 5] [6, 71I

(
(
(4

Y9 I % Wel M3LYE ol Y89 il
L1=[1, 2, 3]

L2=[4, 5]

L3=[6, 7]

Ll.extend(L2)

Ll.append(L3)

print(L1)

(1) [1,2,3,456,7]
2 [L23,[45]67
(3) [L23,45]6 7]
(4 [1,23,[4 5] 6 7

Options:-

«1, Option ID :- 461,
« 2, Option ID :- 462,
« 3, Option ID :- 463,

« 4, Option ID :- 464,
Answer Given:- 2, Option ID : -462

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 117
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Identify the correct output of the Python code :
TUP=([1, 2], [3, 4]. [5, 6])

TUP[2] [1]=8

print(TUP)

(1) ([1 2], [8 4] [5. 6])

(2) (L 2], [3 4] [8 6])

(3) (L2, [3 4] [5 8))
(4)

4)  will generate an error as a Tuple is immutable

I TS % Tl IS Ft TedM BT :
TUP=([1, 2], [3, 4], [5, 6])

TUP[2] [1]=8

print(TUP)

(L) (L 2] [8 4] [5, 6])

(2) ([L 2] [3, 4] [8, 6))

(3) (L 2], [3 4] [5 8]

(4) U Ffe (TW) 3= HOM Fifeh Tuple FIRETT 7

Options:-

«1, Option ID :- 465,
« 2, Option ID :- 466,
« 3, Option ID :- 467,

=« 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

Identify the output of the following Python program segment :
S='Python Programming’

L=S.split( )

S=",join(L)

prink(S)

(1) Python Programming

(2) Python, Programming
(3) ,Python Programming,
(4) ,Python, Programming,
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Freafafad amem Trm 2 F 318eYe &I 9g9H Hifa :
S="Python Programming’

L =S.split( )

S="/join(L)

print(S)

(1) Python Programming

(2) Python, Programming
(3) ,Python Programming,
(4) ,Python, Programming,

Options:-

«1, Option ID :- 469,
« 2, Option ID :- 470,
« 3, Option ID :- 471,

=« 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 119

If S="python language’ is a Python string, which of the following command will display the
following output with ‘P’ in upper case and remaining in lower case ?

(1) print(S.upper( ))

(2) print(S.title( ))

(3) print(S.capitalize( ))

(4)

(
4)  print(S.sentence( ))

7fg S='python language’ T THe & € di frefafad § 4 #F 4t i fefafaa smsege foed
P’ ST9HE H &1 R 3 SAIREE H, i wefa S ?

(1) printlS, upper( )

(2) print(S.title(

(3) print(S. mpﬂalue( )

(4) print(S.sentence( ))
Options:-

«1, Option ID :- 473,
« 2, Option ID :- 474,
« 3, Option ID :- 475,

=« 4, Option ID :- 476,
Answer Given:- 4, Option ID : -476

Question ID:- 120
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Identify the correct output of the following Python Code :
Str="Hello World! Hello India!’
Pos=Str.index (‘Hello")

print (Pos)
(1) 0

(2) 13

(3) [0, 13]
4 (0 13)

TrfefEd qre ®iE % Hel S82YE & g Hifag
Str="Hello World! Hello India!’
Pos=5tr.index (‘Hello")

print (Pos)
(1) 0
(2) 13
(3) [0, 13]
(4 (0, 13)
Options:-

«1, Option ID :- 477,
« 2, Option ID :- 478,
« 3, Option ID :- 479,

=« 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Question ID:- 121

If a List L=["Hello’, “World!’] Identify the correct output of the following Python command :
print(*L)

(1) Hello World!

(2) Hello, World!

(3) ‘Hello’, "World!"

(4) “Hello" ‘World!

7fg T fore L=["Hello’, ‘World!'] & &t fr=fafad aaem & W& o2y &t 789 S
print (*L)
(1) Hello World!
(2) Hello, World!
(3) “Hello’, “World!’
(4) ‘Hello’ "World!
Options:-

«1, Option ID :- 481,
« 2, Option ID :- 482,
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« 3, Option ID :- 483,

« 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 122

If Str is a Python string as
Str="Hello World!

What will be the output of the following Python Command ?

print(Str.find (‘"))

1) 2
(2) 3
3) [2 3, 7]

)
4 (237

Ifg Str
Str="Hello World!

% &Y § U yeH 20 € @ frefafes gmem wHie 1 emseye g ?

print (Str.find (‘1))
(1) 2

(2 3

3) [2 3 7]

(49 237

Options:-

«1, Option ID :- 485,
« 2, Option ID :- 486,
« 3, Option ID :- 487,

=« 4, Option ID :- 488,
Answer Given:- 2, Option ID : -486

Question ID:- 123

Suppose a Python tuple TUP is declared as
TUP=("A’, ‘B, 'C)
Which of the following command is invalid ?

(1) TUP=(D)
(20 TUP=(D,)
(3) TUP+ =('D)
(4) TUP+ =(D')
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qM wifse foF e 9r=eE 29at TUP %1 =ifad foren & &
TUP=(A’, ‘B, 'C)

Frefafes # & =9 9@ Frig v 8 2
(1) TUP=(D')

(2) TUP=(D")

(3) TUP+ =('D)

(49 TUP+ =(D))
Options:-

«1, Option ID :- 489,
« 2, Option ID :- 490,
« 3, Option ID :- 491,

=« 4, Option ID :- 492,
Answer Given:- 4, Option ID : -492

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 124

Identify the correct output of the following Python code :

TUP=(3, 1, 2, 4)

sorted(TUP)
print(TUP)

(1) (3, 1,2 4
(2) 1,234
3) 3124
(4) [1, 2,3, 4]

Frafafad g Fe & W@ 3I8eYe & BaH HiNT
TUP=(3, 1, 2, 4)

sorted(TUP)

print(TUP)

(1) (31,2 4)

2) (1,2 3, 4)

3) I3 1,24]

(4) [1,2 3 4]

Options:-

«1, Option ID :- 493,
« 2, Option ID :- 494,
« 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 2, Option ID : -494

Question ID:- 125
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Find the correct output of the following Python program segment :

T=(1)
print(T=3)

(1) 3

@ (1,7,7)
(3) 111

4 (3)

Frefafad aEem Jam S F W& SISeYS & U e

T=(1)
print(T*3)

(1) 3

@ (4,1
(3) 111

(4) (%)
Options:-

«1, Option ID :- 497,
»« 2, Option ID :- 498,
« 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 3, Option ID : -499

Question ID:- 126

Select the correct output of the given Python code from the following options :
S="INDIAN’

L =S.Partition('N")

NS=LJ0+*="+LI]+ =" +L[2]

print (NS)

(1) I-N-DIA-N-
(2) TI-DIA-—

(3) I-DIAN

(4) I-N-DIAN

Trefafad faskedi § § fou T 9HeH #18 & Wl 3M8SYE & 949 i :
S='INDIAN’

L =S.Partition(‘'N’)

NS=L[0]+‘—"+L[1]+‘="+L[2]

print (NS)

(1) I-N-DIA-N-
(2) I-DIA-

(3) I-DIAN

(4) I-N-DIAN
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Options:-

«1, Option ID :- 501,
»« 2, Option ID :- 502,
« 3, Option ID :- 503,

« 4, Option ID :- 504,
Answer Given:- 4, Option ID : -504

Question ID:- 127

To execute the following code in Python, which module need to be imported ?

print( . mean([1, 2, 3]))
(1) math

(2) random

(3) statistics

(4) probability

gEg H fefafad wis =1 swEifad #36 & fou fFe fega = 39 (import) i &1 STEvIHAl

gt 2

pring( . mean([1, 2, 3]))
(1) math

(2) random

(3) statistics

(4) probability

Options:-

«1, Option ID :- 505,
=« 2, Option ID :- 506,
« 3, Option ID :- 507,

=« 4, Option ID :- 508,
Answer Given:- 1, Option ID : -505

Question ID:- 128

If D is a Python dictionary as
D={A":1,B :2,'C :3}

Then, which of the following command will remove the entire dictionary from the memory ?

(1) del(D)

(2) D.del()

(3) D.clear()
(4) D.remove( )
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7fe D wF gy femrd &
D={A’:1, B :2,‘C :3)
dt frefafas § @ 9 d Fuis 9970 ¥ 9 gaw fesmd & ger S ?

(1) del(D)

(2) D.del()

(3) D.clear( )
(4) D.remove( )

Options:-

«1, Option ID :- 509,
« 2, Option ID :- 510,
« 3, Option ID :- 511,

=« 4, Option ID :- 512,
Answer Given:- 4, Option ID : -512

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 129

What will be the output of the following Python code ?
Dl={Al:5,8 : 7,"C" :9}

D2={B":5, ‘D :10}

D1.update(D2)

print(D1)

(L) A LS B G, E 8 "D 0]

2y A5 B 5, B 5 D 10}
(3) A5 C 9. TV 110}

4y {'B":7.°D :10,°4’ :5,C : 9

Frefafad arem wie &1 eye #0 m ?
DI={&:5,'® : 7,"C :9}

D2={B":5, ‘D" : 10}

D1.update(D2)

print(D1)

(1) {'A’:5,B':5,¢C:9 "D 40}

(2 {AT:§5 B 5% ‘B D 10}
(3) {Alvs T 9D 110}

(4y B :7,°D :710,"A’ :5,C : 9
Options:-

«1, Option ID :- 513,
« 2, Option ID :- 514,
« 3, Option ID :- 515,

« 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514

Question ID:- 130
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Select the output for the given Python code from the following options :
D1={1:2,2:3,3: 4}
D2 =D1.get(1, 2)

print(D2)

(1) 2

(2) 3

(3) [2 3]

(4) {1:2,2:3}

Frefafad fasmed § 9 fau T 9meA Fi & fau sReye #1 999 Hife
D1={1:2,2:3,3:4}
D2 =D1.get(1, 2)

print(D2)

(1) 2

(2) 3

3 [23]

(4 {1:2 2:3}
Options:-

«1, Option ID :- 517,
« 2, Option ID :- 518,
« 3, Option ID :- 519,

=« 4, Option ID :- 520,
Answer Given:- 4, Option ID : -520

Question ID:- 131

Which of the following functions cannot be used with string(str) data type ?
(1) islower()

(2) isupper()
(3) isalpha( )
(4) 1snum()
3
Options:-

«1, Option ID :- 521,
« 2, Option ID :- 522,
« 3, Option ID :- 523,

=« 4, Option ID :- 524,
Answer Given:- 3, Option ID : -523

Question ID:- 132
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Examine the given Python program and select the purpose of the program from the following
options :
N =int(input(“Enter the number”))
for i in range(2, N):
if (N%i==0):
print(i)
to display the proper factors (excluding 1 and the number N itself)
to check whether N is a prime or Not
to calculate sum of factors of N

S e
I~

R
et St e

to display all prime factor of the number N

feu u gmeE g &1 e sifsu s f=fafeg fased 9 @ g/ & 99isH &1 999 Hife .

N =int(input(“Enter the number”))
for i in range(2, N):

if (N%i==0):

print(i)

(1) 39gF omEel (Feed) i wBfiid w6 & fau (1 3R N g 1 3ea)
(2) FETEA & foau foF o1 N U ST Ge € srean el
(3) N & qUAGE] 2 AN =i TUET HH & AU
(4) N H&a & gt 9T UAETE sl Yefiid i & fau

Options:-

«1, Option ID :- 525,
« 2, Option ID :- 526,
« 3, Option ID :- 527,

« 4, Option ID :- 528,
Answer Given:- 2, Option ID : -526

Question ID:- 133

If A=random.randint(B, C) assigns a random value between 1 and 6 (both inclusive) to the identifier
A, what should be the values of B and C, if all required modules have already been imported ?

(1) B=0,C=6

(2) B=0,C=7
(3) B=1,C=7
(4) B=1,C=6

7fg A =random.randint(B, C) 3TESCHA A 1 19 6 (I IMTHA) % 9 &l TeH 99 odl ¢ a1 B 3R
C @l 9eg #0 Brft 4 |eft smereas Higge 379 (import) X forg g & 2

{1y B=0, C=4

)

(2)
(3)
(4)

f

0,/C
1€
1€

B 7
B 7
4 B 6

4
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Options:-

«1, Option ID :- 529,
« 2, Option ID :- 530,
« 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 4, Option ID : -532

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 134

-

5

Options:-

«1, Option ID :- 533,
« 2, Option ID :- 534,
« 3, Option ID :- 535,

= 4, Option ID :- 536,
Answer Given:- 1, Option ID : -533

Question ID:- 135

-

5

Options:-

«1, Option ID :- 537,

»« 2, Option ID :- 538,

« 3, Option ID :- 539,

= 4, Option ID :- 540,

Answer Given:- 4, Option ID : -540

Question ID:- 136

Consider the given Python programme and identify one possible output of this code out of the

following options :

from random import *

Low =randint(2, 3)

High =randrange(5, 7)

for N in range (Low, High):
print(N, end="")

(1) 345
2) 23
3) 45
4) 3456
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feu o yrrye s ) faEr Fwifse R Fefafaa fased § 9 39w &t 99ifad $Reqe & 12 m
SIS
from random import *
Low =randint(2, 3)
High =randrange(5, 7)
for N in range (Low, High):
print(N, end="")

(1) 345

(2) 23

(3) 45

(4) 3456
Options:-

«1, Option ID :- 541,
« 2, Option ID :- 542,
« 3, Option ID :- 543,

=« 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 137

Assuming all required modules have already been imported, identify the correct output of the
following Python program segment :

Data=[4, 4, 1, 2, 4]
print(mean(Data), mode(data))

(1) 14
(2) 41
(3) 34
(4) 43
f
Options:-

«1, Option ID :- 545,
« 2, Option ID :- 546,
« 3, Option ID :- 547,

=« 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138
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Observe the Python code carefully and answer the following question :
def FUN(A):

L=[]
for i in range (2, A):
if (A%i= =0):
L.append(i)
print(L)
N=10
FUN(N)
Identify the global identifier in the above code :
(1) A
(2) L
(3 i
(4) N

Y9 i€ o HEYHIgaH sTaaieh shifsy 3R fefefad g9 1 s Sife :
def FUN(A):

L=[]
for i in range (2, A):
if (A%i==0):
L.append(i)
print(L)
N=10
FUN(N)
YT 1S H global SMESEHER i TE=H HIfST :
(1) A
(2) L
(3) 1
4) N
Options:-

«1, Option ID :- 549,
« 2, Option ID :- 550,
« 3, Option ID :- 551,

=« 4, Option ID :- 552,
Answer Given:- 4, Option ID : -552

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 139
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Observe the following Python program carefully.

import random

def DICE(Low =1, High =6):
RND =random.randint(Low, High)
print(RND, end="")

DICE( )

DICE(2)

DICE(2, 4)

Which of the following options cannot be an output of the above code ?

433

413

354

643

(

(2
(3
(4

—
N St N

Frefafad amega 9o &1 gragHEgEs STaaeET Sife
import random
def DICE(Low =1, High =6):
RND =random.randint(Low, High)
print(RND, end="")
DICE( )
DICE(2)
DICE(2, 4)
frefafed fasedl § § = 91 fased 3TgF #Ie &1 AEEYE & & Hhd1 © ?
(1) 433
(2) 413
(3) 354
(4 643
Options:-
«1, Option ID :- 553,
»« 2, Option ID :- 554,

« 3, Option ID :- 555,

« 4, Option ID :- 556,
Answer Given:- 4, Option ID : -556

Question ID:- 140

=

=

Options:-

«1, Option ID :- 557,
« 2, Option ID :- 558,
« 3, Option ID :- 559,
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=« 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 141

-

5

Options:-

«1, Option ID :- 561,

« 2, Option ID :- 562,

« 3, Option ID :- 563,

=« 4, Option ID :- 564,

Answer Given:- 3, Option ID : -563

Question ID:- 142

=

5

Options:-

«1, Option ID :- 565,
« 2, Option ID :- 566,
« 3, Option ID :- 567,

« 4, Option ID :- 568,
Answer Given:- 3, Option ID : -567

Question ID:- 143

Which of the following is not true for the Python command :
File = open(‘story.txt’, ‘a+")

(1) More text can be written into ‘story.txt’

(2) Content of the file “story.txt’ can be read.

(3) Content of the file ‘story.txt” can be modified.

(4)

4 Command generates an error, if the file ‘story.txt. does not exist.

TEYH FHS & 91 H A T HYT & T 8 2

File = open(‘story.txt’, ‘a+")

(1) “story.txt’ § IR ifies eae foman 51 wear &

(2) “story.txt’ TISEl % Hhee Tl gl ST Hehdl §

(3) “story.txt’ WIEA % Fhee il Rafid foman 51 w1 €

(4) AfE “story.txt’ WEe formM =& gl 8 dl FHig ¥ e (TR) 39— 2l &

2

Options:-
«1, Option ID :- 569,
« 2, Option ID :- 570,
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« 3, Option ID :- 571,

« 4, Option ID :- 572,
Answer Given:- 1, Option ID : -569

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 144

Consider the following Python program segment :

File = open(‘Poem.txt’, ‘r’)
T = File.readline( )

Identify the data type of T :
(1) String (str)

(2) List
(3) Tuple
(4) Dictionary

Trefafed amem dmm §ofe W fa=m wifs -
File=open(‘Poem.txt’, ‘r’)
T = File.readline( )

T % SIRIEEY Sl Y& iy :
(1) String (str)
(2) List
(3) Tuple
(4) Dictionary
Options:-

«1, Option ID :- 573,
« 2, Option ID :- 574,
« 3, Option ID :- 575,

= 4, Option ID :- 576,
Answer Given:- 1, Option ID : -573

Question ID:- 145

-

5

Options:-

«1, Option ID :- 577,
« 2, Option ID :- 578,
« 3, Option ID :- 579,

=« 4, Option ID :- 580,
Answer Given:- 2, Option ID : -578

Question ID:- 146
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Examine the given Python program and select the purpose of the program from the following
options :

F=open('story.txt’, 'r+’)

S=F.read( )

S=S.upper( )

F.seek(0)

F.write(s)

F.close( )

(1) to count the upper case alphabets present in the file

2) to convert all alphabets into uppercase in the file

(2)
(3) tocopy only the upper case alphabets from the file
(4)

to remove all lower case alphabets from the file

Tou U g2 W o1 wiE 6 3R fu U fased | 9 U o 9ESH 99 Hif
F=open('story.txt’, ‘r+")

S=F.read()

S=S.upper( )

F.seek(0)

F.write(s)

E.close( )

(1) i ¥ fTU Tu 3T %9 TewEeE (I J0i) i Ml i & fag
(2) Rd ¥ feu e g gt # ST’ FH (S 9) H a5eH & fag
(3) <hae TIEA ¥ TR HY TEHEZH (I3 I001) il F FH % fag
(4) TREA H WY AR FH TehHEH (B 991 ) =i g2 & o

Options:-

«1, Option ID :- 581,
« 2, Option ID :- 582,
« 3, Option ID :- 583,

« 4, Option ID :- 584,
Answer Given:- 2, Option ID : -582

Question ID:- 147

-

=

Options:-

«1, Option ID :- 585,
« 2, Option ID :- 586,
« 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 4, Option ID : -588

Question ID:- 148
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5

ot e 9T § csv ATEIE I S A 1 ATETEH Bl § e 39 eI I SHaeh 19T N
fepan = o

(1)  write( )

(2) writerow( )
(3) writeline( )

(4) writelines( )

Options:-

«1, Option ID :- 589,
» 2, Option ID :- 590,
« 3, Option ID :- 591,

=« 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 149

Examine the given Python program and select the best purpose of the program from the given
options :

File=open(“Poem.txt”, “r”)

print(len(File.readline( ).split( )))

File.close( )

(1)  to count the number of words present in the file

(2) to count the number of lines present in the file
(3) to count the number of characters present in the file
(4) to count the number of words present in the first line of the file

feu U gryE YR ok wdien s S feu Y fasedi 6 | Y % Haitd Y w1 =99H i
File = open(“Poem.xt”, “r”)

print(len(File.readline( ).split( )))

File.close( )

(1) e fr T e % wen e w  fen

(2) RS | & TS SR R HeA w6 fo

(3) wEd | fou U HEed # H@en w fEd s & fou

(4) hEE T eC e H R T wed i He st R #  fag

Options:-

«1, Option ID :- 593,
« 2, Option ID :- 594,
« 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 2, Option ID : -594

Question ID:- 150
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5

5

Options:-

«1, Option ID :- 597,

« 2, Option ID :- 598,

« 3, Option ID :- 599,

= 4, Option ID :- 600,

Answer Given:- 2, Option ID : -598

Question ID:- 151

The creator of the open source Pandas Package for data analysis in the Python Programming

language was

(1)  Wes Mcinney
(2) Mc Pandas

(3) John D.Hunter
(4)

4) Travis Oliphant

=

Options:-

«1, Option ID :- 601,
» 2, Option ID :- 602,
=« 3, Option ID :- 603,

« 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 152

=

=

Options:-

«1, Option ID :- 605,
=« 2, Option ID :- 606,
« 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 1, Option ID : -605

Question ID:- 153

-

5

Options:-
«1, Option ID :- 609,
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=« 2, Option ID :- 610,
« 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 1, Option ID : -609

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 154

-

Trfafad gy e 1 s18eye 91d ST
import Pandas as pd
M =pd.series({'P" : 10, ‘Q’ : 90})

print(M)
(1) P Q
10 90
2) P 10
Q 90
(3) 0 P 10
1 Q 90
4) 10 P
90 Q
Options:-

«1, Option ID :- 613,
« 2, Option ID :- 614,
« 3, Option ID :- 615,

« 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155

=

=

Options:-

«1, Option ID :- 617,
=« 2, Option ID :- 618,
« 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 3, Option ID : -619

Question ID:- 156
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Fill in the blanks with an appropriate command from the given options to produce the output

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

shown on the right side of the following code :

import pandas as pd
D = [[1, 2], [3, 4]]
A = [1IA1'II’ IIA21I]

'B — [1IB1!I’ 1IB2!I]

Print(D)

(1) D=pd.DataFrame(D, columns= A, index = B)

2

+

Frefafad #re % i @) 2ot T snseye i fere 2 fau mu famedi § | suges wuie ) faa

Bl
B2

Al
1
3

A2
2
4

= pd.DataFrame

B, i=
D)

(
(2) = pd.DataFrame(D, rows =B, colummns=A)
(3) D=pd.DataFrame(D,
(4) (A,

A)

9w :
import pandas as pd
D = [[1, 2], [3, 4]] Al A2
A = ["A1","A2"] Bl 1 2
B = ["B1", "B2"] B2 3 4
Print(D)
(1) =pd.DataFrame(D, columns = A, index = B)
(2) = pd.DataFrame(D, rows =B, columns = A)
(3) D=pd.DataFrame( B, i=A)
(4) = pd.DataFrame(A, B, D)
Options:-
«1, Option ID :- 621,
« 2, Option ID :- 622,
« 3, Option ID :- 623,
« 4, Option ID :- 624,
Answer Given:- 4, Option ID : -624

Question ID:- 157

What will be the output of the following Python code ?

import numpy as np

B =np.array([20, 50, 80, 30])
print(B, B.size, B.shape)

(1) (20, 50, 80, 30) 4
(2) [20, 50, 80, 30] 4
(3) (20, 50, 80, 30) (4,
(4) [20, 50, 80, 30] (4,

,(4)
, (4)
)4
) 4
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Frfafad arem i & Aeye F 3m ?
import numpy as np

B =np.array([20, 50, 80, 30])

print(B, B.size, B.shape)

(1) (20, 50, 80, 30) 4, (4,)
(2) [20, 50, 80, 30] 4, (4,)
(3) (20, 50, 80, 30) (4
(4)

(
(
)
4) [20, 50, 80, 30] (4,)

4
4
Options:-

«1, Option ID :- 625,

« 2, Option ID :- 626,

« 3, Option ID :- 627,

=« 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

Which of the following will help us to read the content of a CSV file ITEMS.CSV as pandas
DataFrame ?

(1) IT=pandas.read(“ITEMS.CSV”)

(2) IT =pandas.readesv(“ITEMS.CSV”)
(3) IT=pandas.csv_read(“ITEMS.CSV”)
(4) IT=pandas.read csv(“ITEMS.CSV”)

Frefefaa & & =1 gart dersl Srenhy o ®9 § ITEMS.CSV Wigel % *hd ol e H Herdl e ?
(1) IT=pandas.read(“ITEMS.CSV”)

(2) IT=pandas.readcsv(“ITEMS.CSV")

(3) IT=pandas.csv_read(“ITEMS.CSV”)

(4) IT=pandas.read csv(“ITEMS.CSV”)

Options:-

«1, Option ID :- 629,
« 2, Option ID :- 630,
« 3, Option ID :- 631,

« 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159

=
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Frefafad 309 (import) FAIE W =R Fifs
import matplotlib.pyplot as PLT

Frafafeas § 9 %@ o waie fou v am & fau s aEa 92 990 5 erEar s 2

(1)  PLT.lineplot([100, 400, 200, 300])

(2) PLT.plotline([100, 400, 200, 300])
(3)  PLT.line([100, 400, 200, 300])
(4) PLT.plot([100, 400, 200, 300])

Options:-

«1, Option ID :- 633,
« 2, Option ID :- 634,
« 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 2, Option ID : -634

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 160

-

5

Options:-

«1, Option ID :- 637,

« 2, Option ID :- 638,

« 3, Option ID :- 639,

=« 4, Option ID :- 640,

Answer Given:- 3, Option ID : -639

Question ID:- 161

=

5

Options:-

«1, Option ID :- 641,
« 2, Option ID :- 642,
« 3, Option ID :- 643,

=« 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

=

Options:-
«1, Option ID :- 645,
» 2, Option ID :- 646,
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« 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 163

=

=

Options:-

«1, Option ID :- 649,
« 2, Option ID :- 650,
« 3, Option ID :- 651,

=« 4, Option ID :- 652,
Answer Given:- 2, Option ID : -650

Question ID:- 164

Which of the following is using wrong syntax for a SELECT query in SQL ?
(1) SELECT * WHERE RNO>100 FROM STUDENT;

2) SELECT * FROM STUDENT WHERE RNO>100;

3) SELECT * FROM STUDENT WHERE RNO BETWEEN 100 AND 200;
4) SELECT * FROM STUDENT WHERE RNO IN (100, 101, 105, 104);

(
(
(
SQL ¥ feHT SELECT * fefu Tetd ameR—T=M1 (syntax) 1 WA fFrefafad § 9 fered faman mn g2
(1) SELECT * WHERE RNO>100 FROM STUDENT;
2) SELECT * FROM STUDENT WHERE RNO>100;

(2)
(3) SELECT * FROM STUDENT WHERE RNO BETWEEN 100 AND 200;
(4) SELECT * FROM STUDENT WHERE RNO IN (100, 101, 105, 104);

Options:-

«1, Option ID :- 653,
« 2, Option ID :- 654,
« 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 1, Option ID : -653

Question ID:- 165
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Which of the following will be the correct SQL command to add a new column FEES in a table
TEACHER ?

(1) ALTER TABLE TEACHER
ADD COLUMN FEES FLOAT;
(2) ADD COLUMN FEES FLOAT
INTO TEACHER;
(3) UPDATE TEACHER
ADD COLUMN FEES FLOAT;
(4) INSERT INTO TEACHER
ADD COLUMN FEES FLOAT;

fordt TEACHER <&@ H U& 91 FEES Hiad Sieq & fau ¥& SQL #wHie fFefafag § 4 & 4t 82
(1) ALTER TABLE TEACHER
ADD COLUMN FEES FLOAT;
(2) ADD COLUMN FEES FLOAT
INTO TEACHER;
(3) UPDATE TEACHER
ADD COLUMN FEES FLOAT;
(4) INSERT INTO TEACHER
ADD COLUMN FEES FLOAT;

Options:-

«1, Option ID :- 657,
« 2, Option ID :- 658,
« 3, Option ID :- 659,

« 4, Option ID :- 660,
Answer Given:- 1, Option ID : -657

Question ID:- 166

-

=

Options:-

«1, Option ID :- 661,
« 2, Option ID :- 662,
« 3, Option ID :- 663,

=« 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167
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Which of the following will display information about all the employees from employee table,
whose names contains second letter as “A” ?

(1) SELECT * FROM EMPLOYEE WHERE NAME LIKE “_A%";
(2) SELECT * FROM EMPLOYEE
WHERE NAME LIKE “%A_";
(3) SELECT * FROM EMPLOYEE
WHERE NAME LIKE “_ _A%";
(4) SELECT * FROM EMPLOYEE
WHERE NAME =“_A%";

fodt EMPLOYEE Table & qeft =i, fomes =19 &1 gaw s1ar ‘A’ &, F 9R § St femm & fau
foreent v foran < 2
(1) SELECT * FROM EMPLOYEE WHERE NAME LIKE “_A%" ;
(2) SELECT * FROM EMPLOYEE
WHERE NAME LIKE “%A_";
(3) SELECT * FROM EMPLOYEE
WHERE NAME LIKE “_ _A%";
(4) SELECT * FROM EMPLOYEE
WHERE NAME =“_A%";

Options:-

«1, Option ID :- 665,
« 2, Option ID :- 666,
« 3, Option ID :- 667,

=« 4, Option ID :- 668,
Answer Given:- 3, Option ID : -667

Question ID:- 168

Which of the following SQL command will help in incrementing values of FEES column in
STUDENT table by 10% ?

(1) UPDATE STUDENT
ASSIGN FEES=FEES # 1.1;
(2) UPDATE STUDENT
SET FEES=FEES * 1.1;
(3) UPDATE STUDENT
SET FEES=FEES * 10%;
(4) UPDATE STUDENT
SET FEES 10%;
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frfafad § | #F @ SQL #Hie STUDENT 2ai@ § FEES ®ie™ % 9gd ¢ HH &1 10% @M H Herd
T ?
(1) UPDATE STUDENT
ASSIGN FEES=FEES * 1.1;
(2) UPDATE STUDENT
SET FEES=FEES * 1.1;
(3) UPDATE STUDENT
SET FEES=FEES * 10%;
(4) UPDATE STUDENT
SET FEES 10%;

Options:-

«1, Option ID :- 669,
»« 2, Option ID :- 670,
« 3, Option ID :- 671,

« 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

Which of the following is correct sequence in a SELECT query ?

(1) SELECT, FROM, WHERE, GROUP BY, HAVING, ORDER BY
(2) SELECT, WHERE, FROM, GROUP BY, HAVING, ORDER BY
(3) SELECT, FROM, WHERE, HAVING, GROUP BY, ORDER BY
(4) SELECT, FROM, WHERE, GROUP BY, ORDER BY, HAVING

SELECT W H =9 91 %4 T& ¢ ?

(1) SELECT, FROM, WHERE, GROUP BY, HAVING, ORDER BY
(2) SELECT, WHERE, FROM, GROUP BY, HAVING, ORDER BY
(3) SELECT, FROM, WHERE, HAVING, GROUP BY, ORDER BY
(4) SELECT, FROM, WHERE, GROUP BY, ORDER BY, HAVING

Options:-

«1, Option ID :- 673,
« 2, Option ID :- 674,
« 3, Option ID :- 675,

=« 4, Option ID :- 676,
Answer Given:- 2, Option ID : -674

Question ID:- 170
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Consider the following tables and their respective degrees and cardinalities in a database called
SCHOOL :

Database : SCHOOL
Table Degree Cardinality
STUDENT 20 300
TEACHER 10 25

Select the degree and cardinality of the cartesian product of the tables STUDENT X TEACHER
from the following options :

(1) 30 7500

(2) 200 325
(3) 30 325
(4) 200 7500

fodl SCHOOL DATABASE H fi=fafad "Rl (table) 31K &t Haifad et (degree) a9 wifefeel
(cardinality) ¥ feam sifsu

Database : SCHOOL
Table Degree Cardinality
STUDENT 20 300
TEACHER 10 25

frfafaa foswedi § 9 STUDENT X TEACHER ®RUU % %19 3T1€ (Cartesian product) =1 feiii
Degree) 3R FfEAfee! (Cardinality) &1 597 HIT ;

(

(1) 30 7500

(2) 200 325

(3) 30 325

(4) 200 7500
Options:-

«1, Option ID :- 677,
« 2, Option ID :- 678,
« 3, Option ID :- 679,

« 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 171

=

Treferfad § 9 = 1 % (Function) HHg MySQL T Witie HeRig (Aggregate functions) =l Al HHE
g7

(1) AVG( ), ROUND( ), COUNT( )
(2) MIN(), UPPER( ), AVG()

(3) COUNT( ), MAX( ), SUM( )

(

)
4) DATE( ), COUNT( ), LTRIM( )

i
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Options:-

«1, Option ID :- 681,
« 2, Option ID :- 682,
« 3, Option ID :- 683,

« 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 172

Table : COACH

Find the output of the MySQL query based on the given Table-COACH (ignore the output header)

SELECT COUNT(GAME), AVG(SALARY)
FROM COACH;

(1) 3 70000
(2) 4 35000
3) 4 70000
4) 3 35000

C1D CNAME GAME SALARY

GO03 VSHALI NULL 60000

GO05 YUVRAJA CRICKET NULL

GO08 MALKHAN | ATHLATICS 80000

G09 SACINDRA CRICKET NULL
Query :

= &t 7 TRt (Table) -COACH (3T/32TE Y I TSRSARTS F{) T SR MySQL W91 F 3T82qe

SELECT COUNT(GAME), AVG(SALARY)
FROM COACH;

(1) 3 70000
(2) 4 35000
(3) 4 70000
(4) 3 35000
Options:-

«1, Option ID :- 685,
« 2, Option ID :- 686,
« 3, Option ID :- 687,
=« 4, Option ID :- 688,

87 of 92

1 A1 aﬁm :

Table : COACH
C1D CNAME GAME SALARY
G03 VSHALI NULL 60000
GO05 YUVRAJA CRICKET NULL
G08 MALKHAN | ATHLATICS 30000
G09 SACINDRA CRICKET NULL

Query :
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Answer Given:- 1, Option ID : -685
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Question ID:- 173

Table : STUDENT

Find the output of the MySQL query based on the given Table-STUDENT (ignore the output header)

SELECT SEC, AVG (MARKS) FROM STUDENT
GROUP BY SEC HAVING MIN (MARKS) > 80;
(1) 83
(2) 84
(3) 84
83
83
80

(4)

W W s W

S1D SNAME SEC MARKS

101 Ameena A 83

107 Atjun B 86

112 Albert B 80

120 Akram A 85
Query :

& T "R (Table)-STUDENT W 41t MySQL W9 % 3M32Ye 1 ¥ e (S3<Ye 3

SELECT SEC, AVG (MARKS) FROM STUDENT
GROUP BY SEC HAVING MIN (MARKS) > 80;

(1) B 83

(2) A 84

(3) A 84

B 83

4) A 83

B 80
Options:-

«1, Option ID :- 689,
=« 2, Option ID :- 690,
« 3, Option ID :- 691,

=« 4, Option ID :- 692,
Answer Given:- 4, Option ID : -692

TSRS &)

Table : STUDENT
S1D SNAME SEC MARKS
101 Ameena A 83
107 Arjun B 86
112 Albert B 80
120 Akram A 85

Query :

88 0f 92
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Question ID:- 174

Consider the following tables in a database called SPORTS.
Database : SPORTS

Table : GAMES Table : PLAYERS
G1D | GNAME | FEES P1D |PNAME| SEX G1D
G01 Football 300 P101 Amrita F G03
G02 Cricket 1000 P103 | Ameena F G02
GO03 |Basketball] 500 P107 Angel F G02
P109 Aman M G03

Which is the best command from the following options to display the name of the player (PNAME)
and their respective games (GNAME)

(1) SELECT PNAME, G1D FROM PLAYERS ;

(2) SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE GAMES.G1D =PLAYERS.G1D ;

(3) SELECT PNAME, GNAME FROM GAMES, PLAYERS ;

(4) SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE P.G1D=G.G1D ;

Trefefed 9o (Tables) § SPORTS ek eR€d W fa=r #ifew :
Database : SPORTS

Table : GAMES Table : PLAYERS

GID | GNAME | FEES PID |PNAME| SEX | GID

GO1 | Football | 300 P101 | Amrita F G03

G02 Cricket 1000 P103 | Ameena F G02

G03 |Basketball| 500 P107 | Angel F G02

P109 | Aman M G03

fEarel (PNAME) 3R 36k Hafed @ (GNAME) &% M @l Weftid &t & fou frfafaa faewedi 9
JER FHIE FHA U §?

(1) SELECT PNAME, G1D FROM PLAYERS ;

(2) SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE GAMES.G1D =PLAYERS.G1D ;

(3) SELECT PNAME, GNAME FROM GAMES, PLAYERS ;

(4) SELECT PNAME, GNAME FROM GAMES, PLAYERS
WHERE P.G1D=G.GI1D ;

Options:-

«1, Option ID :- 693,
« 2, Option ID :- 694,
« 3, Option ID :- 695,

= 4, Option ID :- 696,
Answer Given:- 2, Option ID : -694

Question ID:- 175
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Following are the two tables in a MySQL database.
Database : COMPARTMENT

Table : SUBJECTS Table : RESULT
SUBCODE| SUBNAME |MAXT|MAXP ROLL | SUBCODE | TMARKS | PMARKS
Informatics
065 _ 70 | 30 10045 083 70 30
Practices
Computer
083 OmMPIEL | =g | 30 10135 065 56 29
Science
301  |English Core| 80 | 20 10231 065 63 30
10345 083 56 29

Select the command from the following options to display subjects (SUBNAME) and number of
students registered in that subject in table RESULT.

(1) SELECT SUBNAME, COUNT ()
FROM SUBJECTS, RESULT GROUP BY SUBNAME ;
(2) SELECT SUBNAME, COUNT (#)
FROM SUBJECTS, RESULT ORDER BY SUBNAME ;
(3) SELECT SUBNAME, COUNT (#)
FROM SUBJECTS NATURAL JOIN RESULT ORDER BY SUBNAME ;
(4) SELECT SUBNAME, COUNT (#)
FROM SUBJECTS NATURAL JOIN RESULT GROUP BY SUBNAME ;
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MySQL ETered | &1 FRIET (Tables) & T €
TRWEY : COMPARTMENT
Table : SUBJECTS Table : RESULT
SUBCODE| SUBNAME |MAXT|MAXP ROLL |[SUBCODE | TMARKS | PMARKS
Informatics
065 . 70 30 10045 083 70 30
Practices
Computer
083 . 70 30 10135 065 56 29
Science
301 English Core| 80 20 10231 065 63 30
10345 083 56 29

Subjects (SUBNAME) 3fR ®Rvii- RESULT # 39 fome § g1 o6 whi 9@ %1 9 % fow fFrefafea
fasredl o ¥ HAE &1 =939 HIfSU :
(1) SELECT SUBNAME, COUNT ()
FROM SUBJECTS, RESULT GROUP BY SUBNAME ;
(2) SELECT SUBNAME, COUNT ()
FROM SUBJECTS, RESULT ORDER BY SUBNAME ;
(3) SELECT SUBNAME, COUNT ()
FROM SUBJECTS NATURAL JOIN RESULT ORDER BY SUBNAME ;
(4) SELECT SUBNAME, COUNT ()
FROM SUBJECTS NATURAL JOIN RESULT GROUP BY SUBNAME ;

Options:-

«1, Option ID :- 697,
« 2, Option ID :- 698,
« 3, Option ID :- 699,

=« 4, Option ID :- 700,
Answer Given:- 4, Option ID : -700

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Question ID:- 176

=

=

Options:-

«1, Option ID :- 701,
« 2, Option ID :- 702,
« 3, Option ID :- 703,

« 4, Option ID :- 704,
Answer Given:- 4, Option ID : -704

Question ID:- 177

=
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5

Options:-

«1, Option ID :- 705,
» 2, Option ID :- 706,
« 3, Option ID :- 707,
= 4, Option ID :- 708,

https://kvsexam23feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx...

Answer Given:- 4, Option ID : -708
Question ID:- 178

Options:-

«1, Option ID :- 709,

« 2, Option ID :- 710,

« 3, Option ID :- 711,

« 4, Option ID :- 712,

Answer Given:- 2, Option ID : -710
Question ID:- 179

Options:-

«1, Option ID :- 713,

« 2, Option ID :- 714,

=« 3, Option ID :- 715,

« 4, Option ID :- 716,

Answer Given:- 2, Option ID : -714
Question ID:- 180

Options:-

«1, Option ID :- 717,

« 2, Option ID :- 718,

« 3, Option ID :- 719,

= 4, Option ID :- 720,

Answer Given:- 2, Option ID : -718
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